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Question Number : 1 Question Id : 54062621103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Gujarat led by Mahmud Khilji.
Options :

1. ¥ Vijay Stambha

2. % Charminar

3. % Jaisalmer Fort

4. % Amer Fort

Question Number : 1 Question Id : 54062621103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

5406261044
1

Online
Mandatory
20

20

20

Yes

1
5406261253
Yes

was constructed by Mewar king Rana Kumbha in 1448 to commemorate his victory over the combined armies of Malwa and



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ faor T

2. % IRUMR

3. % SR gl

4. % JER G

Question Number : 2 Question Id : 54062621104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankia Naats are a class of one act plays performed in which of the following states?
Options :

1. # West Bengal

2. ¥ Assam

3. % Bihar

4. % Haryana

Question Number : 2 Question Id : 54062621104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Siferamre Fafafed & ¥ fod Isa & fT ST ardl Ares! &1 o 82
Options :

1. % Uigd S

2.9 3H

3. % fogR

4. % g

Question Number : 3 Question Id : 54062621105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Deposit Insurance and Credit Guarantee Corporation was established in
Options :

1. #* 1963

2. % 1959

3. ¥ 1961

4. % 1975

Question Number : 3 Question Id : 54062621105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST ST 3R B0 RS A o R1fUd fosa T Tl
Options :

1. % 1963

2. % 1959

3. ¥ 1961

4. % 1975

Question Number : 4 Question Id : 54062621106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, the Government of India decided to set up Regional National Institutes for Virology.
Options :

1. %5

2.9 4

3.% 6

4. % 7

Question Number : 4 Question Id : 54062621106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2021 & SOl H 1 718 UV o SIER, HRd IBR - & ST TN faFT HRAH R B b1 (ufy feram
Options :

1. %5

2.9 4

3. %6

4.% 7

Question Number : 5 Question Id : 54062621107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following acids is known as 'muriatic acid'?
Options :

1. # Phosphoric acid

2. % Hydrochloric acid

3. ¥ Ascorbic acid

4. % Boric acid

Question Number : 5 Question Id : 54062621107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafid & § &1 91 o =IRufed 3fa & U H ST il 67
Options :

1. % BRBIND 3w

2. ¥ BIRSIFAND A

3. % TEPIeD 3

4. % Cifbepred

Question Number : 6 Question Id : 54062621108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following colours has the longest wavelength?
Options :



1. ¥ Red
2. ® Orange
3. # Yellow
4. # Cyan

Question Number : 6 Question Id : 54062621108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 9 forg 31 &1 aiiesd 9oy o g2
Options :

1. ¥ T

Question Number : 7 Question Id : 54062621109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is an island in the Hirakud reservoir completely inhabited by wild cattle which were once left behind by villagers when the village
was vacated for construction of the dam.

Options :

1. ¥ Cattle Island

2. # Sagar Island

3. % Abdul Kalam Island
4. # Sriharikota Island

Question Number : 7 Question Id : 54062621109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRIPS Ta=rg & gy § Ford gt ave ¥ el mafert a9 gu ¢ ford amfion g1 i ©Ys foa ma o1 ora 71 1 |y & fmfor
o forg et sraran T T

Options :




1. ¢ o=t g

2. % JFR g

3. % 3egd hAH GIY
4. % fgdpler gy

Question Number : 8 Question Id : 54062621110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mount Aconcagua is the highest mountain in

Options :

1. # Australia

2. # Europe

3. % South America
4. ¥ North America

Question Number : 8 Question Id : 54062621110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3PS Tdd BT FS S Udd g
Options :

1. % 3fiecfer

2. % R

3. ¥ ST SRR

4. % IR HRDI

Question Number : 9 Question Id : 54062621111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals drafted the Hindu Widows' Remarriage Act?
Options :

1. # Lord Hastings



2. * Lord Bentinck
3. # Lord Curzon
4. « Lord Dalhousie

Question Number : 9 Question Id : 54062621111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o O fw Hermsaura 7 g fauar gafdarg sifdifam &1 aeier dur far ar
Options :

1. % dls of™

2. % i dfe®

3. % qle Poi

4.« QIS SO

Question Number : 10 Question Id : 54062621112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The was founded in Calcutta by Ananda Mohan Bose, Sib Chandra Deb and Umesh Chandra Dutta in 1878.
Options :

1. % Atmiya Sabha

2. # Tattvabodhini Sabha

3. ¥ Sadharan Brahmo Samaj

4. # Prarthana Samaj

Question Number : 10 Question Id : 54062621112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 RITGAT 1878 H Bl § 3G g a1, 19 975 ¢a 3R IU T & - 3t Al

Options :
1. % 3{THT JuT
2. % TSI GHT




3.« GIYROT ST JHS
4. % T U

Question Number : 11 Question Id : 54062621113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C. Rajagopalachari founded the Swatantra Party in after breaking away from the Congress.
Options :

1. * 1951

2. ¥ 1959

3. % 1962

4. % 1968

Question Number : 11 Question Id : 54062621113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i, ASUTAERT A S F el 84 & §la ¥ el urel & R |
Options :

1. % 1951

2.9 1959

3. % 1962

4. % 1968

Question Number : 12 Question Id : 54062621114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Unbreakable’ is an autobiography of
Options :

1. ¥ M. C. Mary Kom

2. # Milkha Singh

3. % Yuvraj Singh

4. # Kapil Dev




Question Number : 12 Question Id : 54062621114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EECCEK| B ATHABAT G |
Options :

1. ¢ AL R |

2. % foreran Rig

3. % gorTo g

4. % HUA

Question Number : 13 Question Id : 54062621115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the British Academy Television Awards (BAFTA TV Awards) 2021 for 'Leading Actor'?
Options :

1. #® Paapa Essiedu, I May Destroy You

2. ¥ Paul Mescal, Normal People

3. # John Boyega, Small Axe

4. % Josh O'Connor, The Crown

Question Number : 13 Question Id : 54062621115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 4 9 farem sproft siftFar o forg fofewr srprett Tefifas QRER (@1UeT Hdl QRIBR) 2021 Sidr
Options :

1. % O Uy, ors A fexgia g

2. ¢ Uld U, A dige

3. % S S, el U

4. % SR 3NBIR, G I3




Question Number : 14 Question Id : 54062621116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
first mobile robot VIPER will explore the lunar surface when it launches in late 2023.

Options :

1. ®* ESA's
2. # ISRO's
3. ¥ NASA's
4. % RFSA's

Question Number : 14 Question Id : 54062621116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P Ugdl Hidgd e dl3UR, 2023 & 3id H HaTUd 814 | 9% dg &1 Udl TE|
Options :
1. % 391
2. % TR
3. ¢ 9™l
4. ® IRUHTIU

Question Number : 15 Question Id : 54062621117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries named the cyclone "Yaas'?
Options :

1. ® Vietnam

2. % Bhutan

3. # Philippines

4. ¥ Oman

Question Number : 15 Question Id : 54062621117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafaRaa & I {9 <=1 7 gohard &1 =19 a1 3@ 87
Options :

1. % fagdam

2. % YA

3. ® flhaiid

4.« 3HH

Question Number : 16 Question Id : 54062621118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following companies became the third Indian IT firm to scale Rs. 3 trillion market capital in June 2021?
Options :

1. # Infosys

2. ¥ Wipro

3. % Tata Consultancy Service

4. ¥ HCL Technologies

Question Number : 16 Question Id : 54062621118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & § & T Ul 5 2021 # 3 fefera $uw & Hidhe Uoht &1 Whrd - aTal! dRRt HRAI IT HH & T8?
Options :

1. % SR

2. fam

3. % Tl Hec ! Afda

4. % TIRITUA TSI

Question Number : 17 Question Id : 54062621119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



104th Constitutional Amendment extended the reservation of seats for scheduled caste and scheduled tribe in the Lok Sabha and states
assemblies from 70 years to

Options :

1. # 78 years
2. # 75 years
3. % 80 years
4. # 85 years

Question Number : 17 Question Id : 54062621119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1o4ﬁ¥rﬁaﬁﬂgtrfr BT 3R I] DT faemauTef § SrIgfed Sifd SR SF¥fad Siorid & fore Hiel & SMRE &1 70 T I TIhR
h |

Options :

1. % 7899
2. % 7594
3. 80 Y
4. % 8534

Question Number : 18 Question Id : 54062621120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments made it compulsory for the president to give his assent to a Constitutional Amendment
Bill?

Options :
1. ¥ 24th
2. % 27th
3. % 32nd
4. % 18th

Question Number : 18 Question Id : 54062621120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ fbg daue d=ied = Tyufa & foe Jaue Jened fadae uR sio-t wgafd &1 sifard & feam
Options :

1. ¥ 24d

2. % 27d

3. % 324

4. % 18d

Question Number : 19 Question Id : 54062621121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ICC Women’s Cricket World Cup was hosted by
Options :

1. # India

2. ¥ England

3. % New Zealand

4. # Australia

Question Number : 19 Question Id : 54062621121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WY [CC AR fohdre fay &0 Bt Aorait EREIRERIT
Options :

1. % YRd

2. ¥ TTlS

3. % golids

4. % 3frecfern

~

Question Number : 20 Question Id : 54062621122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Pooja Rani won her 2nd Asian Boxing Championships gold in the final in Dubai in May 2021.
Options :

1. # 85kg

2. % 80kg

3. % 70kg

4. ¥ 75kg

Question Number : 20 Question Id : 54062621122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol I 9 13 2021 H g H WIS | SO GaRT RTINS JabaToll fua-iRIg ol ST |
Options :
1. # 85kg
2. % 80kg
3. % 70 kg
4. ¥ 75 kg
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Number of Questions : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5406261254
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062621123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in the place of question mark ? In the following alpha-numeric series?

PQ39, RS43, TU47, ?
Options :

1. ® VW50

2. % WVS5I

3. ¥ VW51

4. * VW49

Question Number : 21 Question Id : 54062621123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ROfIRIT SHERTHIY (3ehl--gAR®) S T UydTdd g 2 &b RIM W T 3 Mg u?

PQ39, RS43, TU47,?
Options :

1. ® VW50

2. % WVS5I



3. ¥ VW3l
4. % VW49

Question Number : 22 Question Id : 54062621124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this letter series some of the letters are missing, find the correct alternatives.

abcbcedecdefg
Options :

1. #* abcdef
2. % cefghi

3. ¥ defghi

4. % efghid

Question Number : 22 Question Id : 54062621124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 31eR YT H $6 &R W §, Ta! f[adhed 1d B |

abcbcdecdefg
Options :

1. * abcdef
2. % cefghi
3. ¥ defghi
4. % efghid

Question Number : 23 Question Id : 54062621125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd letter group from the given alternatives.

ABDE PQST TSQP MNPQ



Options :

1. # PQST
2. ¥ TSQP
3. ¥ MNPQ
4. ¥ ABDE

Question Number : 23 Question Id : 54062621125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy &, fu 7 fawed! & O faud 31&R TUg &1 9a- Bl

ABDE PQST TSQP MNPQ
Options :

1. # PQST

2. ¥ TSQP

3. % MNPQ

4. % ABDE

Question Number : 24 Question Id : 54062621126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd letter group from the given alternatives.

LC
NE
XF
PE

VD

Options :
1. ¥ PE
2. % LC
3. % VD
4. ¥ XF



Question Number : 24 Question Id : 54062621126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad us &, fT 7 faswed! & 9 faud 31&R TYg &1 9a- Hr|

LC
NE
XF
PE

VD

Options :
1. ¥ PE
2. % LC
3. % VD
4. % XF

Question Number : 25 Question Id : 54062621127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option on the same basis as the second term is related to the first term.

Pedagogy : Teaching :: ? : ?
Options :

1. ® Telepathy : Emotions
2. % Radiology : Sound

3. % Mycology : Fossils

4. ¥ Entomology : Insects

Question Number : 25 Question Id : 54062621127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I YR W ed BT 907 B S GIRT IS Uedl UG I Taifd 1




TRIGTRIR : S{ATYA =2 2 - 2
Options :

1. % RTAIE : o

2. % {qfoprur fagr : @A
3. % PHach-fag: Sary
4. ¥ PICIAFM : DI

Question Number : 26 Question Id : 54062621128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

China : Renminbi :: Japan : ?
Options :

1. # Peso

2. # Dinar

3. ® Peseta

4. % Yen

Question Number : 26 Question Id : 54062621128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdH e BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g
I IR - ST ;2

Options :
1. % 09
2. % dFR
3. % Ugel
4. T

Question Number : 27 Question Id : 54062621129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code 'SALE' is written as '4321', 'EARTH' is written as '13579', then how will 'SHARE' be written in that code?
Options :

1. ¥ 49351

2. % 49153

3. % 49315

4. % 49513

Question Number : 27 Question Id : 54062621129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3d HIe H 'SALE &1 '4321' & &0 H a1 TR 8, 'EARTH' &1 '13579' & U & a1 T 8, I 3 B H 'SHARE' Bl oy foran
I TEIT?

Options :

1. ¥ 49351

2. % 49153

3. % 49315

4. % 49513

Question Number : 28 Question Id : 54062621130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code 'PLAYER' is written as 'LPYARE', then how will 'SCHOOL' be written in that code?
Options :

1. ¥ CSOHLO

2. % CSOLHO

3. # CSOOHL

4. % CSOOLH

Question Number : 28 Question Id : 54062621130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T f3d SIS H 'PLAYER' S 'LPYARE' & &0 H forar T 3, ot 3¢ 18 | 'SCHOOL' 1 oy ferar |
Options :

1. ¥ CSOHLO

2. % CSOLHO

3. % CSOOHL

4. ¥ CSOOLH

Question Number : 29 Question Id : 54062621131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A woman introduces a girl as the daughter of the sister of her father. How is the girl related to the woman?
Options :

1. # Sister of woman's father's sister

2. ¥ Daughter of woman's father's sister

3. % Daughter of woman's mother's sister

4. % Mother of woman's father's mother

Question Number : 29 Question Id : 54062621131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ARl 30 fd1 6 7671 31 T & U § U dsah! o1 Ry Tt 31 e, 39 Afear ¥ H8 Teifdd 82
Options :

1. % Higa & fUdr &1 98 &1 55+

2. ¢ Higd &b fUdl b 58 Bi &t

3. % Higell & WAl & 98- I &

4. % TG P U1 B HIdT B AT

Question Number : 30 Question Id : 54062621132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 friends J, K, L, M, N, O, P and Q are sitting around a circular table facing centre, K is sitting between P and M. Q is 3rd to the left of K and 2nd



to the right of J. L is sitting between J and P. K and N are not sitting opposite to each other. Who is 3rd to the left of M?
Options :

1. % P

2.0

3.% K

4. ¥ N

Question Number : 30 Question Id : 54062621132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

81, K, L, M, N, O, P 3R Q U MATHR Al & IRI R HE B SR A PP 93 6, K, PIRM B S A 98181 Q, K P a4 I IR
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Options :

1. % P

2.0

3.% K

4, % N

Question Number : 31 Question Id : 54062621133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statements: 1. some pens are books
II. some books are pots.

Conclusion: (I) Some pens are pots.
(IT) Some pots are books.

Options :

1. % Only (I) follow

2. % Only (IT) follow

3. % Both (I) and (II) follows



4. ¥ Neither (I) nor (I) follow

Question Number : 31 Question Id : 54062621133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & <l pyY feu U g, foge a1¢ &l e 1 3R 11 fau U §1 3imueh! 37 HUA &l I AT 8, YA 81 I8 ITHId: J1d a2 3 U Ui
BN ATUSHY T FAT ¢ [ T MU el & | 19 1, fe IS 81 ot fou U = & F SR axan g

HYF: [. D HAH ggd&'v g
11. $ J&Id HCh 3 |

Y (1) $© HaH AT &

(I1) $© Acdh G |

Options :

1. ® Had (I) STI0 BT §

2. ¥ B (1) TE HRAT &

3. % (1) 3R (11) TF TRV B §

4. % 8 (1) R A S (1) 3TV HAT &

Question Number : 32 Question Id : 54062621134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statements: I. Some tables are chairs
II. Some chairs are sofas.
II1. All plates are tables

Conclusion: (I) Some plates are chairs.
(IT) No chair is a plate.

Options :
1. # Only (I) follow
2. % Only (II) follow



3. % Neither (I) nor (II) follow
4. ¥ Either (I) or (I) follow

Question Number : 32 Question Id : 54062621134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y & 09 py feu w8, 59 a1 &l e 1 3R 11 fRu U €1 3mueh! 37 HUA &l I AT 8, Y 8 I8 IHId: J1d a2 3 fue
T 81 3! a9 1 § o fou e feemsf & § & 1, 3fe 1 81l iU U o & I 3eRu el 8|

II. WW@W%
L IR We A9 g

f=py: (1) $© we gl
<H)ﬁ€§?®€ @gm

Options :

1. % ad (1) 3RV HIAT 8

2. % HAd (1) TR FRAT §

3. % T8 (1) 3R A B (11) TR FRAT &
4. 1A (1) T (11) ST HRAT §

Question Number : 33 Question Id : 54062621135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the number series.

12111, 16913, 22515, 28917, ?
Options :

1. % 40020

2. % 32418

3. ¥ 36119

4. % 22615



Question Number : 33 Question Id : 54062621135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST SRIl P GRT DR |

12111, 16913, 22515, 28917, ?

Options :

1. # 40020

2. % 32418

3. ¥ 36119

4. % 22615

Question Number : 34 Question Id : 54062621136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

5,7,10,22,39,71,?
Options :
1. 132
2. % 131
3. % 130
4. % 129

Question Number : 34 Question Id : 54062621136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffRaa e gad o W H:
5,7,10,22,39,71,?

Options :

1. ¥ 132

2. % 131



3. % 130
4. % 129

Question Number : 35 Question Id : 54062621137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the relationship among Detective, Police and bald men?
Options :

2. %

3.¢¥




Question Number : 35 Question Id : 54062621137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraffed & @ 1 1 3 gy, Yo 3R 7S e & 9 & Gay o aiidr 82

Options :

©Je

3.¢




Question Number : 36 Question Id : 54062621138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the following figure?

-~

Options :
1. % 15
2.9 17
3.% 19
4. % 2]

Question Number : 36 Question Id : 54062621138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad siefa o favam Rye g2

-

Options :
1. % 15




2.¥ 17
3. % 19
4. % 21

Question Number : 37 Question Id : 54062621139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.

Options :




Question Number : 37 Question Id : 54062621139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3HTHId HI R DI

Options :

1. ®




Question Number : 38 Question Id : 54062621140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Completes the question figure.

P

Options :

2. %




4. <

Question Number : 38 Question Id : 54062621140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3HTHId HI R DI

7

Options :




Question Number : 39 Question Id : 54062621141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the answer figure which is embedded in the question figure.

Options :

1. ¢




Question Number : 39 Question Id : 54062621141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I IR SMPHI BT I B S U AT H Ffafed g

Options :

1. ¢




Question Number : 40 Question Id : 54062621142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the answer figure which is embedded in the question figure.

Options :



-
L |
2. ¥
—
3. %
4. %

Question Number : 40 Question Id : 54062621142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I IR TP BT T B S T 3Pl § IHRA B



Options :

1. %
-
_—
2.¢
s
3. %
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Question Number : 41 Question Id : 54062620941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A number 1700X2 is divisible by 4. Find the possible solutions for the value of X from the given options.
Options :



1.¥ 1,3
2.% 2,4
3.% 1,4
4. % 2,3

Question Number : 41 Question Id : 54062620941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SAT 1700X2, 4 F fauTsa 71 73T MU fawedi & 9 X & A &1 GuTfad Tame™ I1d H1 |
Options :

1.¥1,3

2.% 2.4

3.% 1,4

4. % 2.3

Question Number : 42 Question Id : 54062620942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is defined as the sum of the square root of 81 and the square root of 100. Which of the following is not a possible solution of X.
Options :

1. % -1

2.% 1

3.% 19

4.0

Question Number : 42 Question Id : 54062620942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X BT 81 P THA 3R 100 F IS & TN & ¥9 H gRUING fooam mar g | Fafafed § I &1 91 X &1 guifad o™= 78 g |
Options :

1. % -1

2.% 1



3. % 19
4.0

Question Number : 43 Question Id : 54062620943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A driver covers 240 kms in 4 hours on day 1 and covers 260 kms in 5 hours on day 2 and finally covers 300 kms in 3.5 hours on day 3. Find the
average distance he covered in 1 hour in the 3 days.

Options :

1. % 48 kms
2. % 50 kms
3. % 55kms
4. ¥ 64 kms

Question Number : 43 Question Id : 54062620943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ATAD & 1 BT 4 B¢ T 240 kms DT G 09 BT § R &7 2 B 5 6 T 260 kms B g3 a0 BT § 3R 3 & fa 3 BT 3.5 9 H 300
kms B A TG FRaT gl 3 A & 1 92 T a0 P 718 39 g3 J1d Be |

Options :

1. # 48 kms

2. % 50 kms

3. % 55 kms

4, ¥ 64 kms

Question Number : 44 Question Id : 54062620944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X's marks were increased by 10% for an error correction and then decreased by 10% again to undo the correction. This resulted in reduction of 4
marks from the original score. Find his original score.

Options :
1. % 300



2. % 350
3. % 400
4. %= 450

Question Number : 44 Question Id : 54062620944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YUR & AT X & 3BT H 10% DI g I T8 3R JUR B Ydad HRA & T8 TR T 10% B HHI 1 715 | 3P URUTHEET d 3H I
4 3 HH 1 T | IS Ha b F1d Y|

Options :

1. % 300

2. % 350

3. ¥ 400

4. % 450

Question Number : 45 Question Id : 54062620945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R P S0 & U aY H 25% PI gia BIdl 6, gu I8 H 20% 1 gik Bl & 3R araR a8 H 50% 1 HHT Tl § | SR & g
TR R Y 3 & o 9 8 § 39H Tl gig g1 anfgu?

Options :

1. % 20%

2. % 25%

3. ¥ 33.33%

4. % 40%

Question Number : 45 Question Id : 54062620945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town increases by 25% in the first year, increases by another 20% in the second year and reduces by 50% in the third year.
By how much should it increase in the fourth year to be back at the original level of population?

Options :



1. * 20%
2. % 25%
3. ¥ 33.33%
4. %= 40%

Question Number : 46 Question Id : 54062620946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH T DI X% P ATH R 91 71 ¢ | 7aha T & 100% &1 g BT Sl § SR A UfI=Id X &7 10/3 THT 8 Il 8| X BT A 1d B
Options :

1. ¥ 75%

2. * 87.50%

3. * 90%

4. % 100%

Question Number : 46 Question Id : 54062620946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A good is sold at a profit of X%. The selling price is increased by 100% and the profit percent becomes 10/3 times of X. Find the value of X.
Options :

1. ¥ 75%

2. % 87.50%

3. % 90%

4. % 100%

Question Number : 47 Question Id : 54062620947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is sold for a profit of 140%. If the cost is increased by 20% without changing the selling price, then find the ratio of the new profit
percent and the old profit percent.

Options :
1. # 5:6



2.% 5.7
3. % 6:5
4, % 7.5

Question Number : 47 Question Id : 54062620947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T DI 140% P ATH TR §91 A1 ¢ | T 3560 T Bl 95 fom1 aTd T 20% Pt 3fg 1 It 8, o -7 a1 UiA=Id 3R R a1y
GfI=Td &1 3IUTd J1d B |

Options :

1. ® 5:6

2.9 5.7

3. % 6:5

4. #® 7.5

Question Number : 48 Question Id : 54062620948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ages of X and Y are in the ratio of 9:10. If X is 162 months old, then what is the age of Y?
Options :

1. ® 12 years

2. % 13.5 years

3. % 15 years

4. % 18 years

Question Number : 48 Question Id : 54062620948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
XRY B3G9 :10 H A H 51 G X 162 AGH BT 6, A Y DI 3 T 62

Options :

1. % 1299
2. % 13594



3.4 1598
4. % 189Y

Question Number : 49 Question Id : 54062620949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe x~12:16::64:X32, @t Fuafafad § @ &9 91 x &1 9Hfad A 82
Options :

1. # -16

2.% 4

3. % 8

4.9 32

Question Number : 49 Question Id : 54062620949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If X*12:16::64:X732, then which of the following is a possible value of X?
Options :

1. % -16

2. % 4

3. % 8

4.9 32

Question Number : 50 Question Id : 54062620950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X borrowed a sum of Rs 20,000 from the bank at an agreement of simple interest in the 1st year and compound interest in the 2nd year. If the rate
of interest is 50%, then find the amount that X has to repay it to the bank.

Options :
1. ¥ Rs 45,000
2. % Rs 40,000



3. ¥ Rs 42,500
4. % Rs 47,500

Question Number : 50 Question Id : 54062620950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X7 19 aY B QYR AT 3R 23 I8 H Iehqfes &S & IHIA TR 8% F 20,000 T BT A IYR <t | A ST B &R 50% g, A 98 A
A B S X P §F P a0 b ¢ |

Options :

1. ¥ 45,000 ¥UQ
2. % 40,000 %4
3. % 42,500 >4UQ
4. % 47,500 34U

Question Number : 51 Question Id : 54062620951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount was lent at a compound interest of 20% per annum compounded annually. What is the ratio of the interest for the 1st year and interest
for the 3rd year?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.25:91

2.2:7

3.5:18

4.27:91

Question Number : 51 Question Id : 54062620951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS R B! IS Thafg B 20% & Ahqle TS TR SR feam T ATl 17 I8 o fore soret iR 3% oy & o <arst 7 SfuTd oT 82



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.25:91

2.2:7

3.5:18

4.2791

Question Number : 52 Question Id : 54062620952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X jogs for 5 kms East, then 3 kms North and then 9 kms West. Find the minimum distance between his current and original positions.
Options :

1. # 18 kms

2. % 17 kms

3. % 10 kms

4, ¥ 5 kms

Question Number : 52 Question Id : 54062620952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 5 kms Jd, fohR 3 kms SR 3R R 9 kms UFYH & SRR BT 8| 3D g0 SR 4a fufd & ot =g7aw gt 91d B
Options :

1. ®* 18 kms

2. % 17 kms

3. # 10 kms

4. % 5kms

Question Number : 53 Question Id : 54062620953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A fire engine is 50% faster than a car. If the car can cover a distance in 3 hours, in how much time can the fire engine cover the same distance?
Options :

1. * 2.5 hours

2. % 2 hours

3. ® 1.5 hours

4. % 1 hour

Question Number : 53 Question Id : 54062620953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG DR Y 50% a0 g1 Al BR 3 8¢ T UH gl 99 B Aol 5, dl GHHT 341 gXl Bl fha- THd H I B Tl &7
Options :

1. %254

2.¥ 274

3.% 154¢

4. % 19cl

Question Number : 54 Question Id : 54062620954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can together do a job in 300 days. A and B can do it in 450 days while B and C can do it in 600 days. In how many days can C do the
job alone?

Options :
1. * 450
2. % 600
3. % 750
4.9 900

Question Number : 54 Question Id : 54062620954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C fireior ©s &1 1 300 fof § R Tbd &1 A 3R B 39 450 &1 § % Tobd & Wb B 3R € 38 600 e A R Ihd &1 C




bl 39 HTH P fbaq el & B A1 82
Options :
1. * 450
2. % 600
3. % 750
4.+ 900

Question Number : 55 Question Id : 54062620955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do the job in 20 days and B is half as efficient as A. C is 2/3rd as efficient as B. If all 3 of them work together, on what day will the job be
done?

Options :
1. * 10th
2. % 11th
3. % 12th
4. %= 13th

Question Number : 55 Question Id : 54062620955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH B P20 fCAI A FRTHATE 3R B, AV MU FRA G| C, B Y 2/3 FIA ¢ 1 TG 9 3 T WA B HRd &, Al B (¥ e QR gHI?
Options :

1. % 10d

2. ¥ 114

3. % 12d

4. % 13d

Question Number : 56 Question Id : 54062620956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The height of a cone i1s 12 times its radius. A sphere has the double the radius of the cone. Find the ratio of the volume of the cone and the sphere



if the radius of the cone is 1.5 cm.
Options :
1. ¥ 3:8
2. % 8:3
3. % 34
4. % 4.3

Question Number : 56 Question Id : 54062620956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP P Bl SHaTs IUB! BT BT 12 TR | T M B Boa U &t B &1 g 81 afe 96 & B3 1.5 em 8, A TP SR A &
3{TT T SUTd J1d HR |

Options :

1. % 3:8

2. % 83

3. % 34

4. % 43

Question Number : 57 Question Id : 54062620957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP N & Fd ST 8% d &1 ST fhd1 § ot =1 21 em 82
Options :

1. % 693 sqcm

2. % 1386 sq cm

3. ¥ 2079 sq cm

4. % 4158 sq cm

Question Number : 57 Question Id : 54062620957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is half of the total surface area of a hemisphere whose radius is 21 cm?



Options :

1. ®* 693 sqcm
2. % 1386 sqcm
3. ¥ 2079 sq cm
4. % 4158 sq cm

Question Number : 58 Question Id : 54062620958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the proportion of expenses of a company in different years. If Rs 1,50,000 was spent in 2017, then by how much was the
expenditure on Interest more than the expenditure on wages?

Proportion of Expense
Year
Wages Interest Maintenance | Miscellaneous
2016 20% 25% 30% 25%
2017 25% A0% 15% 20%
2018 30% 20% 20% 30%
2018 35% 20% 20% 25%
Options :
1. * Rs 15,000
2. % Rs 18,750
3. % Rs 22,500
4. % Rs 37,500

Question Number : 58 Question Id : 54062620958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dTferenT fafist auf & U & = & SUTd &1 &1l g1 A& 2017 H 1,50,000 TUT 94 faT T, T &1oT WR T 7MW & Bt o1 H da WR
fpQ T foar sifdes Ut



a‘ﬁ oy @1 JH-JUrd
COn e | vEvwE | Ay

2016 20% 25% 30% 25%
2017 25% 40% 15% 20%
2018 30% 20% 20% 30%
2019 35% 20% 20% 25%

Options :

1. % 15,000 ¥UU

2. % 18,750 30U

3. % 22500 ¥9Q

4. % 37,500 ¥4JU

Question Number : 59 Question Id : 54062620959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the value (in $ millions) of raw materials and the value of finished goods in different years. On an average, by how much
(in $ million) were the finished goods worth more than the raw materials?

® Raw Materials  ® Finished Goods
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Options :
1. % 60
2. % 65
3. %70
4. ¥ 30

Question Number : 59 Question Id : 54062620959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR U1 fafie 9t O e A1 & Hed ($ Ao ) 8iR dUR A1d & Ged &1 GRId1 ¢ | e J1d Bi ol §, IR J1d BT Hed 3ia-
e (s fafera= 1) sifdre ume

CPATATT = dgR J1e
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Options :
1. % 60
2. % 65
3. % 70
4. ¥ 30

Question Number : 60 Question Id : 54062620960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the number of employees that have joined and left a department of an organisation in the given years. If the number of
employees at the start of 2015 was 10, then how many employees were there at the of 2017?

32
E 16
10 4
- 2015
Options :
1. ¥ 50
2. % 51

3. % 52
4, % 53

m Joined m Left

30
45
38 38
35
30
24 25
20

16

2017 2018 2019 2020

2016

E &8 & 5 8

MNumber of employees

Year

Question Number : 60 Question Id : 54062620960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 1% feu 71T awf # fopht Tire1 3 faumT & fged oIk S1S% WM aTel Hnival Bt T 1 S-ifdl 31 IS 2015 BT Y3 H HHaRal
Bt T 10 A, a1 2017 H fraa HHaRt &9
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Options :
1.¥ 50
2. % 5]
3. % 52
4. % 53
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Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :
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Section Id : 5406261047

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261256
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062620961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad uy & IR fowedl & T, 39 ey &1 79 B S SIS Ve BT Jgt [dbey 1|
Options :

1. * ABIR

2. % 3al

3. % YN

4. ¢ 3l

Question Number : 61 Question Id : 54062620961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy A, IR el 7 9, 39 fawcu &1 9g7 &8 St SISl Usg BT Tat fdbea gl
Options :

1. % MBI

2. % 3[q]

3. % HAN

4. v 3T




Question Number : 62 Question Id : 54062620962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O 4, 39 fawed &1 99 &< S dIgd U fU 7T Wsq & R fa=Iw0r o Ug arell fdshed gl
T (X IRT) U HHAT § 3P fo1E T §gd He-1d BTl

Options :

1. ® IHEAHID
2. % gIAIHG
3. ¢ URHATUETES
4. % TUATIDh

Question Number : 62 Question Id : 54062620962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy ¥, IR faswedl B 9, 39 fdded &1 9= B ol hI¥d T AT U e o 3IHR IRVl & Ue ara fddhed Bl
S (2% IRT) U HHAT § 3P o & §gd Hgd He |

Options :

1. # =AAHD
2. % IS
3. ¢ URHATUEES
4. % TUAREISH

Question Number : 63 Question Id : 54062620963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed Uy &, IR fawed § 9, 39 fadhed &1 98 $1 ol HIadrad 41l & Jal [ddHed ol g |
Options :

1. & QoI

2. % U

3. % SIS




4. % 9id

Question Number : 63 Question Id : 54062620963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR el 7 9, 39 f9hcd &1 987 &% & HIddae I3 HT el fashed 78l g
Options :

1. & QoI

2. % O

3. % SIg

4. % qid

Question Number : 64 Question Id : 54062620964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad sy A, IR Awedl § T, 39 faswey &1 T B3 It 3100 & Ve &1 Jal f[ddbed gl |
R R S A TP T8 |

Options :

1. % qQadlyd
2. ¢ GEYTYDH

3. % fqwqaifediu®
4. % fgor fariuo

Question Number : 64 Question Id : 54062620964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR foeal ° T, 39 b ey &1 Tu &3 S 3/c9g & U o1 et f[ab ey 8|
R W P G TH SR

Options :

1. % GHATSD




2. ¥ YYD
3. % fqwuredys
4. % T faxo

Question Number : 65 Question Id : 54062620965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR fomeal 7 9, 39 I8! faded &1 7 &3 o foTu 77U Wreg & Tg) 31 &1 IfId fapeu g1

]d
Options :
1. % IRA
2. % HiU
3. % STl
4. TIfEEL

Question Number : 65 Question Id : 54062620965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy A, IR el § T, 39 I8! fah e &1 999 B3 o feT 71U Rieg & et 31 o1 Ifrd faweu gl

]d
Options :

1. % IRA
2. % HiUQ
3. % ST
4. oIfeET

Question Number : 66 Question Id : 54062620966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy @, TR fowedl & T, 39 fawed &1 999 &3 o Y Vs &1 Ta! [dbed 7




Options :

1. % 3pfivem
2. ¢ JAMEH
3. % 3fIRD
4. % nfYH

Question Number : 66 Question Id : 54062620966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy @, TR fowedl § 9, 39 fawe &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. % i
2. ¢ 3ffUN®H
3. % S
4. % iRi®

Question Number : 67 Question Id : 54062620967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowed! & T, 39 UE! fawed &1 99+ &3 off 4T 11T Wea-H & Tot oY &1 3frd fawed g1
YRI-ERT

Options :

1. ¥ 3fef-Yd

2. % 3el-Ydd
3. ® DUS[-HE
4. % TRR-Jeel

Question Number : 67 Question Id : 54062620967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied ue o, IR fadwedl O 9, 39 9g! [dhed o1 9g+ &< il fAT T Weg-TH o He! 1Y &1 Ifad fawe 51|

R4
Options :

1. ¥ 3&-gd

2. #® 3Jel-Yd
3. ® PUST-AY
4. % IRR-JeTl

Question Number : 68 Question Id : 54062620968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & IR fawedl # 9, 39 el fawed &1 997 & S Rad RIF & o Iuged Weg &1 el fawed g
o1 A 3fe ufa-udt & DI HETd ¢ aTel AR g

Options :
1. % g ol
2. % Jfd Rarat
3. ¢ Ura- el
4. % B

Question Number : 68 Question Id : 54062620968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 el [dmed &1 99+ & S Rad RIF & o Iwgad e &1 el [dhed 5|
AT Ay e ufe-uell & ! 7 & Al AR ]|

Options :
1. % &g gadf
2. % fd Rara
3. ¢ UIG Hegl
4. % B0




Question Number : 69 Question Id : 54062620969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy H, IR fadwedl 7 9, 39 fdded &1 999 &3 1) faT TN 9190 & &1d &1 ol [dbed gl |
HETeA! gHT 3 TR ford 1

Options :

1. ¢ Ul Yddb1a

2. % G Ydbral

3. ® AIHIAID TAHHBT

4. % A JqqRTA

Question Number : 69 Question Id : 54062620969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl # 9, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded oi |
HERd! gHf 3 IR ford B

Options :

1. ¢ quf ydeera

2. % Hiewy Ydbral

3. % qIHIAID TAHHBT
4. ® UM gIHABTA

Question Number : 70 Question Id : 54062620970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 famed &1 70 &1 S fou T8 argd & e gia & e &1 ve o1 [dsed g |

H‘lﬂ%&ﬂﬁgﬂ CIRECIRIRCIE SIY
Options :




1. % gagrd

2. % faugd

3. % g
4. ¢ T

Question Number : 70 Question Id : 54062620970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl & T, 39 faswey &1 999 &3 Sl foU 70 arag & fore gy & Y &1 9ad o1 fased ]

TG § 3TN §H S1ER THT WM 1Y
Options :

1. % gagrd

2. % fgggy

3. % ey

4. ¢ qRIETS

Question Number : 71 Question Id : 54062620971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR fadweul A ¥, 39 fdwed &1 999 B3 o ol 9180 He &1 f[ddbed gl
qH 3R 3T BT PR IR A ol §H Ter o Thd g

Options :

1. ¥ SAMAD dl]
2. % WA dIH

3. % JYId aI

4.« T0g a1

Question Number : 71 Question Id : 54062620971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafaRad vy, IR fawedl & ¥, 39 fdewed &1 94 &3 &l Ta! a1 He &1 f[dwed gl
IH SR U BT T R A ol 81 Do off Febol B

Options :

1. ¥ SAMAIdd dIRg
2. % A 91

3. % JYId aI

4. ¢ Oy a1

Question Number : 72 Question Id : 54062620972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us o, TR fasedl § 9, I fddhed &1 I B Sl fav g god a1 &1 gl fddbed gl
Options :

1. % FEX AHSHR A AT AT TgT 688 H SUDH| WaR ADHR 3Tl |

2. % FX AHSH AIdl- 3T AN Tl 381 H IUD! WeR ADHR 3Tl 5

3. ¢ SR AHIHR aIdl, "3 AN Te1 383, H IUD! WeR AHR AT 5"

4. % "SR AHSH AT 3T AN TG 388 H IUD! WaR AR 3Tl g

Question Number : 72 Question Id : 54062620972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O, IR fawedl O 1, 39 faded &1 99+ &< SNt faR19 forg god a1 &1 Hat fdded gl |
Options :

1. % § AHSHR Al AT AT T8I 588 H IUD! WaR AR 3T |

2. % SR AHSH SIdl- 3T AN Tl 381 H ITD! WeR AHR 3T g

3. ¢ SR AHSHR 1A, "I AN Tg1 38X, T IUD! ek A AT 5"

4. % "SR HHSHR AT 3T AR TG 588 H SUD| WaR AR 3l "

Question Number : 73 Question Id : 54062620973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el A 9, 39 faweu o1 97 &% ot feu U Aeifad o1 gt 3 arerr fapea g |
wigl Gt e} scie gt o FarT e} el -

Options :

1. % TIfGa=mel & faoa g

2. ¢ [t & foAT DIg H1H a1 bl
3. % o gl

4, % YA

Question Number : 73 Question Id : 54062620973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR iereal § 9, 39 fahcd &1 987 &3 &t feu 71 Aiifad o1 gt 31 arer fapea g |
ot g1t TEY SierdT a8t o AT g} gl -

Options :

1. % faqrett & fasr g

2. ¢ {53t & fo1 D18 B 181 Sha
3. % o g

4, % AIH BT

Question Number : 74 Question Id : 54062620974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, TR fowenl # 9, 39 fadhed &1 797 B Sl < 718 GgTdR &1 et 3 g fdsed g |
RIS -

Options :
1. % B3 gRed oA
2. % UHTA HIAT

3. ¥ DT pRAl




4. % IR

Question Number : 74 Question Id : 54062620974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fawed &1 9g9 & ot &1 718 GeTaX &1 Ja! 3 ara fadwed ]
gl ol -

Options :

1. % DidH uRYH BT
2. % S{UHH hAT

3. ¢ GHTEA DHRAT

4. % IR

Question Number : 75 Question Id : 54062620975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul & 9, 39 fadhed &1 797 B Sl < 718 GgTdR &1 e 3 are fdsed g |
-4 TS T g

Options :

1. ¢ 3 AfeTd g
2. % T[0T § 707 i
3. % fagig ®=Al

4. % RIGr BT

Question Number : 75 Question Id : 54062620975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & ar fawedl § 9, 39 faded &1 9g9 & ot &1 718 GeTaX &1 Ja! 3 ara fadwed ]
-3 TS Ul g




Options :
1. ¢ 3Ad AfsId g

2. % T[0T § T[0T i

3. % fIgIg B

4. % fIAT AT

Sub-Section Number : 2
Sub-Section Id : 5406261257
Question Shuffling Allowed : Yes

Question Id : 54062620976 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Y TRIIR & AMYG® Ue 3R IR fadmed § ¥ s Uy &1 qarad R A |

Yagad TaeR AT & UHid 3R Afddd &1 IgaTed Hdl g | ITH, URGHIT 3R i 3R g ¥fia 8| 2Regead sadeR e dfad
& fore feaam 81 S99 T &1 f) et 1 e aufad Saet gad ot daT 8 | iargad SIagR & Sl g T & | SR STiehT
3R g & Rufaal waft Saoa 181 gl | 39 U e ardraRul &1 Yo sl &, Foras uft osra &1 3igva $vd ¢ | Taa safad o=
U ® S arel FHT AT bl UHTTAd e § | =i a1 UY@gUl 51 & 1o et B & s bt e et St | SifepR-Srefiwy,
fRrere-fRemef, Biel-aei sife Tt & forw WRaged IagR THH U J srawad ¢ | Riamdf & afe wia &1 ervma § df 98 o Ries 3
qifesd I UT T8t &R GohdT| 39 T[0T & HILTH U Bie-I-BleT Afad go! ! TergHfd Sifotd &= ad1 8 1 39 701 &1 fofd fobar o1 g
2| UTRaTR® TP 39 01 & [aRia iR faxdid o3 § 9gd aat YA 31al HRd ¢ | Ja YA dl fdd WY 3ie1 a1 g | f[Kid,
T, T, W7 3R Tdd S 39 07 &1 YREM 3R SHHT [P gial g

Sub questions

Question Number : 76 Question Id : 54062620977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Twe & FUR Xftaa™ afad &1 . faRivd gidt 82
Options :

1. % gl SV Adg P e AT §

2. % qabh T H TRAhT I Bl &

3. % Gt BT A A R AT 8

4. ¢ Gl B YuIfad BT &




Question Number : 77 Question Id : 54062620978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yagad TagR & a1 faRvar 82

Options :

1. % qgdh O § Hedl 37 gl &
2. % fodil 1 Wi feet a1 Sitd Tahal
3. ¥ A9 ) AT Sigdl ©

4. % PIg 3 TUG Ta! Bl

Question Number : 78 Question Id : 54062620979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ) farRia iR faaiid o537 § o S5t YfHehT B 31aT HRT 82
Options :

1. % 3 Aok

2. ¢ UIRAIRS® IR

3. % gayd 1

4. % g

Question Number : 79 Question Id : 54062620980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S0 A DI - F1 g P AW ek 52
Options :

1. % IR

2. % Qpl

3. ¢ ﬁ:‘v’iﬁ“ﬁ’

4. = JHYH

Question Number : 80 Question Id : 54062620981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 T8 BT Bls IUYH Xfeh-
Options :

1. % geTgHfd

2. % 3R & T

3. % fgddr ik

4. ¢ Qagad HAdER

Question Id : 54062620976 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

S TR &1 AMYGH U 3R IR fadhedl H I TAd U &1 garad SR g |

Yiegad TaeR A9 &1 IS id 3R HAfedd &1 Igdlied &l § | 30H, TR 3R Ufaa 3marur g1 2id 5 | *fiagad aagR Udd Al
& fo R & | SHY 7Y™ &1 WA Sl & | erdT safeki FeehT §ad Sild ol 8 | Wergerd SAaeR & Dl g2 T 8 | T6Y ST
3R g & Rufaal waft S 81 Bl | 399 T e ardraRul &1 Yo gl &, Foras quft orsrar &1 srgva &vd € | Laaq safad o
Guch § 31 arat It AT 1 guHTfad SRl 7 | 2fie a1 wyaqul 81T § b foeht S & fonTe) &t iad et ot | SfpRT-srefi=y,
e Rrenff, Bielast anfe @uft & for Weaged sodeR T ©u § siawasd g | Ruemdf # afe 2fia &1 siva g at a8 srom e
qifesd Rref U T8 HR THdT| 9 01 & H1EH Y BIc-U-Biel Afad 981 & TaTgHfd Sfofd & T g1 59 01 &1 3ol faraT o T
g | UTRATR® TR 39 01 & [ahRid MR [axdid @3- § 9gd gt YT 3al $HRd ¢ | 5 YA dl Afad Wd 3al Hdl g | fKid,
T, T, TR 3R ad 31 § 39 07 & GR&f 3R S9! [de™ gl g

Sub questions

Question Number : 76 Question Id : 54062620977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG o IR XaaH fad o a1 [aRIwdT gl 82
Options :

1% I IYHeg BB A 3@A B

2. % b I H 3MRIBT I Il ©

3. % IRt P A A R AT 8




4. ¢ gt B yuIfad Hear 8

Question Number : 77 Question Id : 54062620978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yagad TagR &1 31 [aRvar 82

Options :

1. % qgd T § Hedl 37 sl &
2. % oot o1 Ut fdet 81 Siid Tepd
3. ¢ U9 &1 AT Sgal §

4. % I3 39 TG Tal Bl

Question Number : 78 Question Id : 54062620979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et & A RId 3R fAaRd B & Jad 551 YHBT DI 3 HRT 82
Options :

1. % g Gfad
2. ¢ OINAIR® GEhR

3. % gayd &1
4. % g

Question Number : 79 Question Id : 54062620980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gTH 9 DI - T I BT o Tsg 82
Options :

1. % I

2. % Pl

3. ¢ AddE

4. ® gHIYT




Question Number : 80 Question Id : 54062620981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TG Bl Dlg SUGad -
Options :

1. % eryfd

2. % 3R b 0T

3. % g oHfer

4. Qicrgad dgR
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Group Id : 540626836
Group Maximum Duration : 0
Group Minimum Duration : 0
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Sub-Section Number : 1
Sub-Section Id : 5406261258
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062620982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The tasting room has a glorious/ view of the shining Lake Mendocino,/ set of by the dusty chaparral all around.
Options :

1. # The tasting room has a glorious

2. % view of the shining Lake Mendocino,

3. ¥ set of by the dusty chaparral all around.

4. ¥ No Error

Question Number : 81 Question Id : 54062620982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The tasting room has a glorious/ view of the shining Lake Mendocino,/ set of by the dusty chaparral all around.
Options :

1. # The tasting room has a glorious

2. # view of the shining Lake Mendocino,

3. % set of by the dusty chaparral all around.

4. % No Error

Question Number : 82 Question Id : 54062620983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

Meg and me quickly hid in/ the panic room, but our/ safety was still in peril.
Options :

1. ¥ Meg and me quickly hid in

2. # the panic room, but our

3. # safety was still in peril.

4. ® No Error

Question Number : 82 Question Id : 54062620983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Meg and me quickly hid in/ the panic room, but our/ safety was still in peril.
Options :

1. ¥ Meg and me quickly hid in

2. % the panic room, but our

3. % gsafety was still in peril.

4. ® No Error

Question Number : 83 Question Id : 54062620984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(They disposed them without any trouble), because their enemies had no organization or strength in any type of numbers.
Options :

1. #® They disposed of them without much trouble

2. ¥ They disposed them off without any trouble

3. # They disposed them without much trouble

4. ® No correction required



Question Number : 83 Question Id : 54062620984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(They disposed them without any trouble), because their enemies had no organization or strength in any type of numbers.
Options :

1. # They disposed of them without much trouble

2. ¥ They disposed them off without any trouble

3. % They disposed them without much trouble

4. # No correction required

Question Number : 84 Question Id : 54062620985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

There (was neither trace of cancer, and neither was there) any indication that she ever had any!
Options :

1. #¥ was no trace of cancer, or

2. % was neither any trace of cancer, nor there was

3. #* was neither trace of cancer, and neither there was

4. # No correction required

Question Number : 84 Question Id : 54062620985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

There (was neither trace of cancer, and neither was there) any indication that she ever had any!



Options :

1. # was no trace of cancer, or

2. ¥ was neither any trace of cancer, nor there was

3. # was neither trace of cancer, and neither there was

4. # No correction required

Question Number : 85 Question Id : 54062620986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

They are surprised into open-mouthed silence at suddenly finding the brazen trespassing within their domestic domain.

Options :

1. # developer
2. % landloper
3. % galloper
4. ¥ interloper

Question Number : 85 Question Id : 54062620986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

They are surprised into open-mouthed silence at suddenly finding the brazen trespassing within their domestic domain.

Options :

1. # developer
2. % landloper
3. % galloper
4.+ interloper

Question Number : 86 Question Id : 54062620987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice

He stopped embracing jealousy not wanting to hear a confessional in the hallway outside the lavatories.

Options :

1. * goblin
2. * violin
3. % maudlin

4. * muslin

Question Number : 86 Question Id : 54062620987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He stopped embracing jealousy not wanting to hear a confessional in the hallway outside the lavatories.

Options :

1. # goblin
2. % violin
3. % maudlin

4. % muslin

Question Number : 87 Question Id : 54062620988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Aladdin is a poor street urchin who spends his time stealing food from the marketplace in the city of Agrabah.
P. What he unwittingly gets is a fun-loving genie who only wishes to have his freedom.
Q. Little do they know is that the Sultan's sinister advisor Jaffar has his own plans for both Aladdin and the lamp.

R. His adventures begin when he meets a young girl who happens to be Princess Jasmine, who is forced to be married by her wacky yet estranged
father.



S. Aladdin's luck suddenly changes when he retrieves a magical lamp from the Cave of Wonders.

Tune-in this Friday, to witness the mystical nights of Agrabah unfold.
Options :

1. # RPSQ

2. % RQSP

3. % RQPS

4. ¥ RSPQ

Question Number : 87 Question Id : 54062620988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Aladdin is a poor street urchin who spends his time stealing food from the marketplace in the city of Agrabah.
P. What he unwittingly gets is a fun-loving genie who only wishes to have his freedom.
Q. Little do they know is that the Sultan's sinister advisor Jaffar has his own plans for both Aladdin and the lamp.

R. His adventures begin when he meets a young girl who happens to be Princess Jasmine, who is forced to be married by her wacky yet estranged
father.

S. Aladdin's luck suddenly changes when he retrieves a magical lamp from the Cave of Wonders.

Tune-in this Friday, to witness the mystical nights of Agrabah unfold.
Options :

1. # RPSQ

2. % RQSP

3. % RQPS

4. ¥ RSPQ

Question Number : 88 Question Id : 54062620989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

Allusion

Options :

1. ¥ Intimation

2. % Insignificance
3. % Silence

4. % Reality

Question Number : 88 Question Id : 54062620989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Allusion

Options :

1. ¥ Intimation

2. % Insignificance
3. # Silence

4. ® Reality

Question Number : 89 Question Id : 54062620990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Bulwark
Options :

1. # Bastion

2. % Rampart

3. % Fortification
4. ¥ Assail



Question Number : 89 Question Id : 54062620990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Bulwark
Options :

1. # Bastion

2. % Rampart

3. % Fortification
4. ¥ Assail

Question Number : 90 Question Id : 54062620991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % perseverence

2. % perserverance

3. % perseverance

4. ® perserverence

Question Number : 90 Question Id : 54062620991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % perseverence

2. % perserverance

3. ¥ perseverance

4. ¥ perserverence



Question Number : 91 Question Id : 54062620992 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options :

1. ¥ maintainance
2. ¥ maintenance
3. # maintnance

4. % meintenance

Question Number : 91 Question Id : 54062620992 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options :

1. * maintainance
2. ¥ maintenance
3. ¥ maintnance

4. ¥ meintenance

Question Number : 92 Question Id : 54062620993 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Up a blind alley

Options :

1. ¥ Going down a course of action that leads to a bad outcome.
2. # To go full speed, especially while driving a vehicle.

3. # Avoid responsibility by giving it to someone else.

4. ® When you absolutely will not allow something to happen.

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Question Number : 92 Question Id : 54062620993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Up a blind alley

Options :

1. ¥ Going down a course of action that leads to a bad outcome.
2. % To go full speed, especially while driving a vehicle.

3. # Avoid responsibility by giving it to someone else.

4. ¥ When you absolutely will not allow something to happen.

Question Number : 93 Question Id : 54062620994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Twenty three skidoo

Options :

1. # To listen very carefully.

2. % To eat a lot and eat it quickly.
3. ¥ A hasty departure.

4. % A deal that is made without first examining it.

Question Number : 93 Question Id : 54062620994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Twenty three skidoo
Options :
1. ® To listen very carefully.



2. % To eat a lot and eat it quickly.
3. % A hasty departure.

4. # A deal that is made without first examining it.

Question Number : 94 Question Id : 54062620995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A leader who sways his followers by his oratory
Options :

1. ¥ Demagogue

2. # Mercurial

3. # Imbroglio

4. % Omnifarious

Question Number : 94 Question Id : 54062620995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A leader who sways his followers by his oratory
Options :

1. ¥ Demagogue

2. % Mercurial

3. # Imbroglio

4. % Omnifarious

Question Number : 95 Question Id : 54062620996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.



An act of ending the employment of a worker or group of workers
Options :

1. ¥ Impeach

2. ¥ Layoff

3. ¥ Matriarchy

4. % Paranoia

Question Number : 95 Question Id : 54062620996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

An act of ending the employment of a worker or group of workers
Options :

1. % Impeach

2. ¥ Layoff

3. ¥ Matriarchy

4. % Paranoia

Sub-Section Number : 2
Sub-Section Id : 5406261259
Question Shuffling Allowed : Yes

Question Id : 54062620997 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

You would have seen an increasing amount of “junk mail” showing up in your e-mail box. The so-called harmless activities of a small number of
people are increasingly becoming a serious problem for the Internet.

Spam is the flooding of the Internet with many copies of the same message, in an attempt to force the message on people who would not
otherwise choose to receive it.

Spam is basically electronic junk mail or junk newsgroup postings. It is sometimes confused with any unsolicited e-mail. But an old friend may
also find your e-mail address on the Net and send you a message but this could hardly be called spam, even though it is unsolicited. Real spam is
generally e-mail advertising for some product sent to a mailing list or newsgroup.



In addition to wasting people’s time with unwanted e-mail, spam also eats up a lot of network bandwidth. There are many organisations and
individuals who have taken it upon themselves to fight spam with a variety of techniques. The problem is that because the Internet is public, there
is very little that can be done to prevent spam, just as it is impossible to prevent junk mail.

One of the most recent examples of large-scale spamming was the hoax Ericsson e-mail about a free give away, something most people just
cannot resist. The letter begins with a claim that since Nokia is giving away telephones, Ericsson will respond by giving away brand new WAP
phone. But the recipient must forward the letter to a minimum of 20 people to receive the phone. The letter is signed by Anna Swelund,
Executive Promotion Manager for Ericsson Marketing. It was later discovered that there was no such person at Ericsson.

Sub questions

Question Number : 96 Question Id : 54062620998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a Spam mail?

Options :

1. # An e-mail containing inappropriate content
2. % A junk mail or junk newsgroup postings

3. % An e-mail containing virus

4. ¥ An e-mail containing promontory content

Question Number : 97 Question Id : 54062620999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who did the letter claim Anna Swelund to be in the spam e-mail for Ericsson?
Options :

1. # Executive Marketing Manager

2. ¥ Executive Promotion Manager

3. % Executive Sales Manager

4. # Executive Operations Manager

Question Number : 98 Question Id : 54062621000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :



1. ¥ Spam mail is increasingly becoming a serious problem for the internet.
2. % Not all unsolicited e-mails are spam mails.
3. # Spam mail eats up a lot of network bandwidth.

4. ¥ A recent example of large-scale spamming was the hoax Nokia e-mail about a free give away in which anyone could claim a free Ericsson
WAP phone by forwarding the e-mail to 20 other people.

Question Number : 99 Question Id : 54062621001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The large scale spam e-mail example given in the passage was created under the name of which company?
Options :

1. # Samsung

2. % Sony

3. ¥ Ericsson

4. # Nokia

Question Number : 100 Question Id : 54062621002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is it impossible to get rid of junk-email?

Options :

1. # Because the authorities controlling internet choose not to prevent spam e-mails.
2. # Because companies earn money from these mailing campaigns

3. # Because the internet is private

4. ¥ Because the internet is public

Question Id : 54062620997 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

You would have seen an increasing amount of “junk mail” showing up in your e-mail box. The so-called harmless activities of a small number of
people are increasingly becoming a serious problem for the Internet.



Spam is the flooding of the Internet with many copies of the same message, in an attempt to force the message on people who would not
otherwise choose to receive it.

Spam is basically electronic junk mail or junk newsgroup postings. It is sometimes confused with any unsolicited e-mail. But an old friend may
also find your e-mail address on the Net and send you a message but this could hardly be called spam, even though it is unsolicited. Real spam is
generally e-mail advertising for some product sent to a mailing list or newsgroup.

In addition to wasting people’s time with unwanted e-mail, spam also eats up a lot of network bandwidth. There are many organisations and
individuals who have taken it upon themselves to fight spam with a variety of techniques. The problem is that because the Internet is public, there
is very little that can be done to prevent spam, just as it is impossible to prevent junk mail.

One of the most recent examples of large-scale spamming was the hoax Ericsson e-mail about a free give away, something most people just
cannot resist. The letter begins with a claim that since Nokia is giving away telephones, Ericsson will respond by giving away brand new WAP
phone. But the recipient must forward the letter to a minimum of 20 people to receive the phone. The letter is signed by Anna Swelund,
Executive Promotion Manager for Ericsson Marketing. It was later discovered that there was no such person at Ericsson.

Sub questions

Question Number : 96 Question Id : 54062620998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a Spam mail?

Options :

1. * An e-mail containing inappropriate content
2. % A junk mail or junk newsgroup postings

3. ¥ An e-mail containing virus

4. % An e-mail containing promontory content

Question Number : 97 Question Id : 54062620999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who did the letter claim Anna Swelund to be in the spam e-mail for Ericsson?
Options :

1. # Executive Marketing Manager

2. ¥ Executive Promotion Manager

3. ¥ Executive Sales Manager

4. % Executive Operations Manager

Question Number : 98 Question Id : 54062621000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ Spam mail is increasingly becoming a serious problem for the internet.

2. % Not all unsolicited e-mails are spam mails.

3. # Spam mail eats up a lot of network bandwidth.

4. ¥ A recent example of large-scale spamming was the hoax Nokia e-mail about a free give away in which anyone could claim a free Ericsson
WAP phone by forwarding the e-mail to 20 other people.

Question Number : 99 Question Id : 54062621001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The large scale spam e-mail example given in the passage was created under the name of which company?
Options :

1. # Samsung

2. % Sony

3. ¥ Ericsson

4. # Nokia

Question Number : 100 Question Id : 54062621002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is it impossible to get rid of junk-email?

Options :

1. # Because the authorities controlling internet choose not to prevent spam e-mails.
2. # Because companies earn money from these mailing campaigns

3. # Because the internet is private

4. ¥ Because the internet is public

Disciplinel
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Question Number : 101 Question Id : 54062621003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An elevator cage of mass 900 kg when empty is lifted vertically by means of a wire rope. A man of mass 72.5 kg is
standing in it. Find the tension in the rope.Take upward acceleration as 3m/sec>.

Options :
1. % 9000 N
2.9 124585 N



3. ¥ 3000 N
4, % 14543 N

Question Number : 101 Question Id : 54062621003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
900 kg FSTATT FT TF fove e =19 @el g9 W ar HF T & Ay F d99d & T 3T 3310

STaT g1 FEH 72.5 kg TSI HT Ueh HSHT TS gl TN & idsel A1d | 3m/isec® & §T § IR &
AR & o

Options :

1. ¥ 9000 N

2. ¥ 124585 N
3. % 3000 N

4. % 14543 N

Question Number : 102 Question Id : 54062621004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The triangle law of forces states that

Options :

1. ® If a number of coplanar concurrent forces, acting simultaneously on a body are represented in magnitude and direction by the sides of a

polygon taken in order, then their resultant may be represented in magnitude and direction by the closing side of a polygon, taken in the opposite
order.

2. ¥ If two forces acting simultaneously on a body are represented in magnitude and direction by the two sides of triangle taken in order then
their resultant may be represented in magnitude and direction by the third side taken in opposite order

3. # If two forces, acting simultaneously on a particle, be represented in magnitude and direction by the two adjacent sides of a parallelogram
then their resultant may be represented in magnitude and direction by the diagonal of the parallelogram which passes through their point of
intersection

4. % A resultant force is a single force which can replace two or more forces and produce the same effect on the body as the forces.



Question Number : 102 Question Id : 54062621004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g &1 Ayst Faq sears f& |
Options :

1. % gfe U e IR U 1Y B B, Hs GHACT JHA aa B hH B ol 7T TgHST b1 Yorsii gRT afkHr 3R fo=n # ufaffia
o ST @, dl 37 IR &1 fauiid %H & SgYS & THTO Yol gRT URATT 3R fem & gfafifia forar s awar g

2. ¢ e fordlt e IR U 1Y BT X a1l &l 9l Bl IS &1 &1 Yolafi gRT 6 & uiRuTor 3R fa=n & gxifar orar 8, ot 3o afomt
& fqudta r o off 73 St Yo gy afedmor 3R fa=m & cwifar o ghar g

3. % IS UH HUI IR UH 1Y B B I, &l 91 B JAR IGHS & &l 3T Yorif gRTuRATor iR o= & gxifar o &, df 396
gRoTTHt &1 aiAToT 3R = # TR aqyst & fawul gRT ufdida far S 9t g off 37 Uidwdad & fog ¥ ToRdl &

4. % Tp YRUTH 90 Thd 91 § Sl & AT &1 T 31fp il Y Ufa=U1fird = TopdT g 3R Ui R 9d0 & A UHT I PR JhdT g |

Question Number : 103 Question Id : 54062621005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A body has an initial velocity of 16 ny/sec and an acceleration of 6 m/sec?. Determine its speed after it has moved 120
metres distance?

Options :

1. % 21.20 m/sec
2. % 4988 m/sec
3. % 41.18 m/sec
4. % 43.98 m/sec

Question Number : 103 Question Id : 54062621005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v 5 # IRMEF T 16 misec § 3R ROT 6 misec® 1 120 HieX H g T A & G FHA
afa Faifa 2

Options :
1. % 21.20 m/sec



2. % 49 88 m/sec
3.4 41.18 m/sec
4. % 43.98 m/sec

Question Number : 104 Question Id : 54062621006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A machine raised a load of 600 N through a distance of 150 mm. The effort, a force of 30 N moved 0.88 m during the process. Calculate the
Mechanical Advantage.

Options :
1. ¥ 20
2. %10
3. % 30
4. % 25

Question Number : 104 Question Id : 54062621006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AR 7 150 mm BT G & AIHH F 600 N HT YR ISTT| UiehaT & SR T, 30 N 6T I 0.88 m T | FiHAD ATH BT T0MT B |
Options :

1.+ 20

2. % 10

3. % 30

4. % 25

Question Number : 105 Question Id : 54062621007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does not work on the application of lever?
Options :

1. * Crow bar

2. * A pair of scissors



3. % Fire tongs
4. ¥ Turning the cap of pen

Question Number : 105 Question Id : 54062621007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifEd & @ 1 ITad & SN IR ST T8} BT 82
Options :

1. % X[

2. % I B TS SISt

3. % 3ffy forme

4. ¢ T &1 HUHST

Question Number : 106 Question Id : 54062621008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which boiler uses evaporation of the feed water by means of superheated steam from the superheater as the principle of working?
Options :

1. ¥ Loeffler Boiler

2. # La mont boiler

3. % Benson boiler

4. % Babcock and wilcox boiler

Question Number : 106 Question Id : 54062621008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
® I T SR PTH B4 & Rigid & U H ffaariom I sifadwd 41U & A1eH T BIg U b aTSeb0 BT IYTNT HRdl 82

Options :

1. ¢ IR SIgeR
2. % A dIgeR
3. % 999 d[geR




4. % 99DIP IR [TdHIa FIR

Question Number : 107 Question Id : 54062621009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of the feed check valve?

Options :

1. ® Its objective is to put off the fire in the furnace of the boiler when the level of water in the boiler falls to an unsafe limit
2. ¥ Its function is to regulate the supply of water, which is pumped into the boiler, by the feed pump.

3. # To check the pressure supplied to the boiler

4. ® Increase the temperature of steam

Question Number : 107 Question Id : 54062621009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIS I dlcd BT I HT 82

Options :

1. % BT I AT ! YT T T Id T ¢ 56 S1ger H U1 o1 TR SRRferd i a R srar g
2. ¢ ZHHT BT U B Y DI fafafid w1 8, o wis Uu gR1 areass & iy fhar S g

3. % qTEe D Y[ Y 7T 3Te B Wi bR & forg

4. % UTY &7 ITIHH TG

Question Number : 108 Question Id : 54062621010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The natural draught produces draught than mechanical draught.
Options :

1. ¥ Less

2. # More

3. # Equal

4. % equivalent



Question Number : 108 Question Id : 54062621010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TS (R SI33C), T UReT (b Had SI3T3<) B ga-T d U] (JT3HT3T) ST HRAT 5 |
Options :

1. ¥ HH

2. % 3{fd

3. ¥ AT

4. % JHDE

Question Number : 109 Question Id : 54062621011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the purpose of Morse test?
Options :

1. #® To find Brake power

2. % To find indicated power

3. # To find brake thermal efficiency

4. ® To find volumetric efficiency

Question Number : 109 Question Id : 54062621011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRf Tlefur T IR T B2

Options :

1. % §cb UTaR WIoiH & oy

2. ¢ Hohfdd UTaR T Udl A & ferg
3. % S A1 &I 1 Uell AT & g
4. % JTAH! G&IdT DT Ul A o fe1g



Question Number : 110 Question Id : 54062621012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which device is used for atomising and vaporising the fuel and mixing with air in suitable proportions ?
Options :

1. # Spark Plug

2. ¥ Carburettor

3. * Fuel pump

4. % Feed check valve

Question Number : 110 Question Id : 54062621012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 IUHRUN T IUTNT S &1 THIGHd 3R ITfidpd A 3R IUgad JHIUT | g1 & 1y e & ferg fvan Siran 82
Options :

1. % T @R

2. ¥ BHIYIR

3. % YUY

4. % IS AP dled

Question Number : 111 Question Id : 54062621013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the angle between two threads in Whitworth thread?
Options :

1. # 60 degree

2. ® 25 degree

3. % 30 degree

4. ¥ 55 degree

Question Number : 111 Question Id : 54062621013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FTcad IS T 1 YT & St BT PHIvT a1 BIdT 82
Options :

1. % 60 fSUI

2. % 25 &l

3. % 30 f&Ilt

4.+ 55180

Question Number : 112 Question Id : 54062621014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the abbreviation for the term Pitch circle diameter?
Options :

1. * MFG

2. ¥ PCD

3. #* MECH

4. * REF

Question Number : 112 Question Id : 54062621014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fire ehel STHICR Weq b WA TH T 82
Options :

1. ¥ MFG

2. ¥ PCD

3. ¥ MECH

4. % REF

Question Number : 113 Question Id : 54062621015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which part is not included in assembly drawing of steam engine cross head?



Options :

1. # Piston Rod
2. % cotter

3. # Gudgeon pin
4. ¥ Split cotter

Question Number : 113 Question Id : 54062621015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W o T B I BT S 2 i 1 T e e &
Options :

1. % fUxARIs

2. % DI

3. % 7o U

4. ¢ T&AC IR

Question Number : 114 Question Id : 54062621016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is represented in this picture?

g

Options :
1. # Represents splined shafts
2. % Represents Diamond knurling

3. % Represents screw threads



4. ¥ Represents cylindrical compression spring

Question Number : 114 Question Id : 54062621016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 o & o gxifar man 22
|

_.-"'"'-.-.-.-'

Options :

1. # fquIford Qe &1 ufafafia Har g

2. % SHS T &1 ufaffa Har g

3. % Ug & gg! &1 ufaffta exar g

4. ¢ 9ETIHR Tdte BT o1 ufafafia wdr g

Question Number : 115 Question Id : 54062621017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the material represented by the given picture?

),

Options :
1. ¥ Cast Iron
2. % Wooden block




3. # QGlass
4. # Liquids

Question Number : 115 Question Id : 54062621017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&u T fom gR1 e uard &1 A Sars

)

Options :

1. ¢ qdl gl

2. % AHal B D
3. % BHid

4. % ¢d

Question Number : 116 Question Id : 54062621018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In terms of radial cams, circle drawn from the centre of the cam through the pitch point is called

Options :

1. # Base circle
2. ¥ pitch circle
3. % pitch curve

4. % Prime circle

Question Number : 116 Question Id : 54062621018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a0 & G T, orR1d forg & Wead ¥ 7 & $g I Wid ¢ g &l HET o |
Options :

1. ® 99 g

2. ¢ g afda

3. % A &g

4. % YIgH Gidhd

Question Number : 117 Question Id : 54062621019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following applications are not obtained from inversion of single slider crank chain?
Options :

1. % Reciprocating compressor

2. ¥ Elliptical Trammel

3. ¥ Oscillating cylinder engine

4. % Rotary engine

Question Number : 117 Question Id : 54062621019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed § § &9 9 Sy RiTd Wgex g o & Sgoh AUl § U gl 8id &2
Options :

1. % JONH! HUlssh

2. ¢ 3(USTHR cHd

3. % GIdd Rcier $oi

4. % quif gor

Question Number : 118 Question Id : 54062621020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a non metallic gear materials?



Options :

1. # Cast Iron
2. # Steel

3. # Bronze
4. ¥ Raw hide

Question Number : 118 Question Id : 54062621020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafifed ¥ @ H1 srurg R uerd 22
Options :

1. % gadi &gl

2. % gWId

3. % T

4. ¥ 3ABBS

Question Number : 119 Question Id : 54062621021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gre TR B! SR HATg DI TUFT B IG T8 60 r.p.m. IR AT 8 | HWTER Hdls A URdc H J1d HL 9IF S9! 1A 9¢HR 61 rp.m &I
SITcht 8

Options :

1. ¥ 0.24 mm, 8 mm

2. % 0.63 mm, 8.2 mm

3. % 0.59 mm, 0.15 mm

4. % 0.32 mm, 0.20 mm

Question Number : 119 Question Id : 54062621021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the vertical height of a Watt governor when it rotates at 60 r.p.m. Also find the change in vertical height when its speed increases to 61
r.p.m.



Options :

1. ¥ 0.24 mm, 8 mm

2. % 0.63 mm, 8.2 mm
3. % 0.59 mm, 0.15 mm
4. ® 0.32 mm, 0.20 mm

Question Number : 120 Question Id : 54062621022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part connects the driving shaft to the driven shaft?
Options :

1. # Brake

2. % lever

3. ¥ clutch

4. ® Spark plug

Question Number : 120 Question Id : 54062621022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B G HIT grefaT Aue &) f3a Aue A Sisare?
Options :

1. % §b

2. % s

3. ¥ od

4. % Wb &R

Discipline2
Group Number : 7
Group Id : 540626838

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 5406261050

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261261

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062621023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One of the reasons for gear noise is
Options :

1. #* Damaged bearings of rear drive pinion
2. % Loose bolts securing ring gear

3. ¢ Insufficient or wrong kind of gear oil

4. % Distorted rear axle

Question Number : 121 Question Id : 54062621023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
R =R & SR A Y Th gl
Options :

1. % IR g13d fufom &t effaued safn
2. % O R &1 Uh g TWd did dlee

3. ¢ U T Ted YbR BT AR S

4. * Riga R

Question Number : 122 Question Id : 54062621024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts are not included in Lucas mechanical fuel injection system?
Options :

1. # Control spring

2. ® Distributor

3. #® Pressure relief valve

4. ¥ Temperature Sensor

Question Number : 122 Question Id : 54062621024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRd o ¥ & 91 I g1 A S4- Soia=H Jourel § [MHd a1 82
Options :

1. % {30 R8T

2. % faR®

3. % URR Rl dlcd

4.  dIYHH Jdedh

Question Number : 123 Question Id : 54062621025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a spray gun used for painting body of an automobile, the maximum volume of paint is controlled by using

Options :

1. ¥ Needle adjusting screw
2. ® Electric button

3. % Stop Valve

4. % control valve

Question Number : 123 Question Id : 54062621025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁﬁamﬁaﬁraﬁﬂ?wﬁ$ms@umﬁwﬁ?ﬂ?ﬁ@rmﬁ,ﬂ?ﬁ&mw BT IUANT Hb HfAd Dt STl
|

Options :

1. ¥ g5 gHo® Ug
2. % Zafdcdh e
3. % WY dled

4. % fqg7u d1eq

Question Number : 124 Question Id : 54062621026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shapes does the Leaf spring used in automobiles have?
Options :

1. % Rectangular

2. % Triangular

3. % Semi elliptical

4. % Hemispherical

Question Number : 124 Question Id : 54062621026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 SH-3 siefa sifeiaRa & ugad o B 3 gt |2




Options :

1. ¥ OAHR

2. % B@ivig

3. ¢ 3¢ 3USTHR
4. % e

Question Number : 125 Question Id : 54062621027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following stresses are induced in the arms of the flywheel?
Options :

1. % Longitudinal Stress

2. % Compression Stress

3. ¥ Bending stress

4. ¥ Hoop Stress

Question Number : 125 Question Id : 54062621027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied o @ & a1 ufaed Tiadrad g o Yoell § URd gid1 g2
Options :

1. % 3 ufdaa

2. % guted ufdad

3. ¢ §F (dfST) Ulded

4. % g YUfded

Question Number : 126 Question Id : 54062621028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does Newton's Second law states?
Options :



1. ¥ A particle of mass “m” acted upon by an unbalanced force “F” experiences an acceleration “a” that has the same direction as the force and a
magnitude that is directly proportional to the force.

2. # A particle originally at rest, or moving in a straight line with constant velocity, tends to remain in this state provided the particle is not
subjected to an unbalanced force.

3. # The mutual forces of action and reaction between two particles are equal, opposite, and collinear.

4. ® If a particle is located at or near the surface of the earth, the only significant gravitational force is that between the earth and the particle.

Question Number : 126 Question Id : 54062621028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o1 GIRT Y 1 Hedl 82

Options :

1. ¢ GOOH &1 T HUT "m" o TR SRIGTd 9 "F" §RT BT [T ST &, T @RUT "a" BT SIHT HRT § oreh! [G=0 o & THH gialt
g SR aRamr S 9@ & e FAEIUIIS BT 6|

%% TP HU gd T 3 faym & 8, a1 FRaR a7 & [y el ¥ & 9a 381 5, 39 fufa 3 787 &t Ugfi &, S=1d S 01 SRigierd 9 & 39 7
|

3. % T HUN & o fopan SR Ufaforan &1 URERS 9 90, fudia Sfik Wl g1t g
4. % T s HU P! B Jdg W 1 39P U UG &, a1 Tt 3R H01 & aiid TH A HgdYU! oyl § g |

Question Number : 127 Question Id : 54062621029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the applications of vector dot product?
Options :

1. # To find out stress

2. % To find the torque produced

3. % To find out moment of inertia

4. ¥ To determine the projection of a vector in a specified direction

Question Number : 127 Question Id : 54062621029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fewr farg IdIE & U a1 82

Options :

1. % gfddd &1 gdl o= & g

2. % IdIGd JATgUl BT Idl A & forg

3. % SIScd Tl &1 ol & & forg

4. ¢ T& FAfEY fzn & wfewr (@@eR) & uauur o1 RuRor s & fow

Question Number : 128 Question Id : 54062621030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the volumetric strain of the body from given data;

Original volume = 240mm?

Change in volume = 245mny’,

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.0.88

2.0.97

3.0.57

4.0.34

Question Number : 128 Question Id : 54062621030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT a7 a1 @ s & WOger T & 0T H:
HeT AT = 240 mm?®

HTGS H IRFaA = 245mm?




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.0.88

2.0.97

3.0.57

4.0.34

Question Number : 129 Question Id : 54062621031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proof of resilience of material per unit volume is known to be
Options :

1. ¥ Modulus of resilience

2. % Elasticity modulus

3. * Principal stresses

4. % Modulus of rigidity

Question Number : 129 Question Id : 54062621031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 313 S yard o IRARIy o THTor &1 & U H AT ST B |
Options :

1. ¢ IR H1 A19iS (HSq T IRfeTd)

2. % YT HIUTH

3. % g Uided

4. % 3U=UU YUNH

Question Number : 130 Question Id : 54062621032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Ratio of lateral strain to longitudinal strain is known as

Options :

1. # Modulus of elasticity
2. % Bulk modulus

3. % Poisson's Ratio

4, % Shear modulus

Question Number : 130 Question Id : 54062621032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1% T ¥ 3 e WA & uTd B P T H ST SI1dT g
Options :

1. % TR HIUIH

2. % 3 YATRIAT Ui (deeh HIege)

3. ¢ G 3UTd

4. % 3U=UU YUNH

Question Number : 131 Question Id : 54062621033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What stresses are induced in the body due to temperature change?
Options :

1. ¥ Thermal stress

2. ® simple stress

3. ® Longitudinal stress

4. % elastic stress

Question Number : 131 Question Id : 54062621033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT URadd & SR fie A i 3 Ufded 39 8id 82




Options :

1. ¢ a4y gfdead

2. % YR Ufdad
3. % 3rjced ufqed
4. % T fdad

Question Number : 132 Question Id : 54062621034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit of stress?

Options :

1. % Kg

2. % Tons

3. % Km

4.« N/m?

Question Number : 132 Question Id : 54062621034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fUIdad B! ShTs T 57

Options :

1. % Kg

2. % ¢

3. % Km

4. & Nr’mz

Question Number : 133 Question Id : 54062621035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a shaft, the amplitude of torsional vibration is zero at

Options :

1. ¥ Nodal point

2. # Mid of the shaft
3. % End of the Shaft

4. % Point of contraflexure

Question Number : 133 Question Id : 54062621035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AT H, TR A BT SRATH R I G|
Options :

1. ¢ ASd Ulse

2. % QU & A

3. % Q0 PT 3id

4. % YI$C 3HIth HTRIFR

Question Number : 134 Question Id : 54062621036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When there is a reduction in amplitude over every cycle of vibration, the motion is said to be as?
Options :

1. # Longitudinal vibration

2. % Damped vibration

3. # Natural Vibration

4. % Free vibration

Question Number : 134 Question Id : 54062621036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S B & YIS Tsh | A H HHI Bl 8, af i bl 9 g1 Srar 82

Options :



1. % 3rjced HIA
2. ¢ 3[qHiGd B
3. % UTdhidd D
4. % gad HIUA

Question Number : 135 Question Id : 54062621037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mass of a single degree damped vibrating system is 7.5 kg and makes in 24 free oscillations in 14 seconds when disturbed from its
equilibrium position. The amplitude of vibration reduces to 0.25 of its initial value after five oscillations. Determine the stiffness of the spring.

Options :

1. % 500 N/m
2. % 750 N/m
3. ¥ 860 N/m
4. % 200 N/m

Question Number : 135 Question Id : 54062621037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uohd fSUt sravifd ST Ul &1 S 7.5 ke € 3R 39! ddad Rufd I faaferd 817 )R U8 14 Idhs A 24 Gad qia- dRal g | U
GIeH! o §1G HU- BT AT U TRMNEG T & 0.25 % HH 8l oIldl & | [BIT & HERAT BT R0 H: |

Options :

1. % 500 N/m

2. % 750 N/m

3.+ 860 N/m

4. % 200 N/m

Question Number : 136 Question Id : 54062621038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the deflection in the cantilever beam with point load W at free end?
Options :



| o (WE/(3ED

5 % (WI9/(SED)

3 % (WE)/(48ED)

4 % (WE)/(128EI)

Question Number : 136 Question Id : 54062621038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gadid R fdg YR w & I1Y S1geRA o1\ H faamor & g2

Options :
| v (WP/(3E)
, % (Wl)/(8EI)

L % (WP)/(48El)

4 % (WP)/(128El)

Question Number : 137 Question Id : 54062621039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ratio of dynamic viscosity and density of fluid is known as

Options :

1. # Newton's law of viscosity



2. ¥ Kinematic viscosity
3. ® Viscous flow
4. # Radiant flow

Question Number : 137 Question Id : 54062621039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it T 3R &d & g & ST BI & U T ST S8,
Options :

1. % g BT I b 40

2. ¢ G Ml

3. % Y YdIg

4. % QWM a8

Question Number : 138 Question Id : 54062621040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rate of increase of pressure in vertical direction is equal to the weight density of fluid at that point. This is called as
Options :

1. # Pascal's law
2. # pressure head
3. % Hydrostatic law

4. % Dalton's law

Question Number : 138 Question Id : 54062621040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR M A T TG B R I g W ET H UR Tcd & SRR gl ¢ 1 59 FHET S|
Options :

1. % URebel 1 frad

2. % g AR




3. ¢ SaRifas Fam
4. % Sleed &1 faHq

Question Number : 139 Question Id : 54062621041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fluids have constant density fluid flow?
Options :

1. # Compressible fluid

2. ¥ Incompressible fluid

3. # Rotational fluid

4. * TIrrotational fluid

Question Number : 139 Question Id : 54062621041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & 9 fora oRa uerf & FRaR 997 a UaTg g 87
Options :

1. % JUfSd aRa

2. ¢ UTST R

3. % guff RIezHa) @Ra

4. % 3(YUT (RACIAA) RA

Question Number : 140 Question Id : 54062621042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What factors determine the stability of a submerged body?
Options :

1. # Only Centre of Buoyancy

2. % Only Centre of Gravity

3. % Metacenter



4. ¥ Centre of gravity and center of buoyancy

Question Number : 140 Question Id : 54062621042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Y BRS Saqy Ui o1 FRRd1 31 Ryiid Hd 82

Options :

1. % I 90 B THHH g

2. % TH@AIHYY] BT UHH H%
AR

3. %

4. TTSATHYU BT D% 3R I I BT g

Discipline3
Group Number : 8
Group Id : 540626839
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 5406261051
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261262
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062621043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Example of vortex flow is

Options :

1. ¥ A whirlpool in a river

2. % Water flowing from a overhead tank
3. % Water flowing out of Dam

4. ® Water running from a pipe

Question Number : 141 Question Id : 54062621043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HaR (dICa) UdTg BT IS8 0l gl
Options :

1. ¢ 7Tdl § SR

2. % RRIUR bl Y a8 @1 UMl

3. % §Y ¥ 8 @I UM

4. % UI3Y 9 §gdT Ut

Question Number : 142 Question Id : 54062621044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By what process heat is flown through the solids?
Options :

1. ¥ Thermal diffusion



2. * Convection
3. # Radiation
4. % Parallel flow

Question Number : 142 Question Id : 54062621044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg TifshaT gIRT SN H S SAT Yalfed & il 62
Options :

1. ¢ AUy faeRor

2. % Hag

3. % fafor

4. % GHMIMR YaTg

Question Number : 143 Question Id : 54062621045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heat loss from an insulated cylindrical system to an external convective environment can generally be minimized by?
Options :

1. # Decreasing the thickness of insulation

2. ¥ Increasing the thickness of insulation

3. # Placing the same size

4. % combining of two sheets

Question Number : 143 Question Id : 54062621045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR STTHR YUIel S8t a1 araraxul # 38T 8T &I IHFgd: f6d & gRT %4 a1 51 9edi 82
Options :

1. % faggRly o1 HIcTs geH

2. ¢ TIGgRIYT B HICTS T




3. % Tdh 5l THR TGDH
4. % g 2ftc o1 IgqeH

Question Number : 144 Question Id : 54062621046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum of the absorptivity, reflectivity, and transmissivity must be equal to

Options :
1. %0
2. %2
3.% 0.5
4.+ 1

Question Number : 144 Question Id : 54062621046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SFARITYUTRITETT, IRTdcH SR TR BT IR & SRR BT =1RT
Options :

1. %0

2. %2

3.% 05

4. 1

Question Number : 145 Question Id : 54062621047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At Reynolds numbers of the order of 10, pressure drag accounts now for about of the total drag.
Options :

1. ¢ half

2. % one fourth

3. #® Twice

4. % Thrice



Question Number : 145 Question Id : 54062621047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS U 10 o 961 T, &9 HYUT 3d Gdl HYUT b TRTHT & WS B
Options :

1. % 31T

2. % T AUTS

3. % QNI

4. % fqug

Question Number : 146 Question Id : 54062621048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which law of thermodynamics is related to Entropy?
Options :

1. # Istlaw

2. # 2nd law

3. % 3rd law

4. ¥ Both 2nd and 3rd law

Question Number : 146 Question Id : 54062621048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T B &1 g Teith & Teifa @2
Options :

1. % 1o faq

2. % e

3. % 3 fae

4.+ 231 3R 330 Frgm <=



Question Number : 147 Question Id : 54062621049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In reference to the Psychometric Charts, which of the following can be determined if Wet bulb temperature and relative humidity are known?
Options :

1. ¥ Dry bulb temperature

2. % Absolute Humidity

3. # Relative humidity

4. % Dew Point temperature

Question Number : 147 Question Id : 54062621049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR ard & He §, Fafafaa & § @ Pufa o o T 8 afg o aea aromm oik arder smar 31d 81
Options :

1. ¢ Q[&h ded dUHTT

2. % guf arka

3. % SATOTE S

4. % 3{Iih dTUHH

Question Number : 148 Question Id : 54062621050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the methods that are not employed to increase the specific output and thermal efficiency of the plant?
Options :

1. % Reheating

2. # Regeneration

3. # Intercooling

4. ¥ pre heating

Question Number : 148 Question Id : 54062621050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 1 I fafert € e S Tua & Ay Iare SR ardiy emdr &) 9 & e 78} fvar Srar g2
Options :

2. % A (IRSIHRRA)

3. % 3f:RAIT (Sepiei)

4. g4 ST (3 gifc)

Question Number : 149 Question Id : 54062621051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In heating process is defined as the ratio of actual useful work to the maximum useful work.

Options :

1. % Efficiency

2. ¥ Effectiveness

3. ® Percentage error

4. % Change in enthalpy

Question Number : 149 Question Id : 54062621051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS ufgpar | & IRATd® IUANT B H1 MfHdd Iuarh &1f & SuTd & =4 § uRHIRG fHar S g |
Options :

1. % q&dl

2. ¢ GHTaRITAd

3. % yfazra Ffie

4. % qof 3o & uRacA

Question Number : 150 Question Id : 54062621052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The efficiency of a Carnot engine using an ideal gas as the working substance is
Options :

1. ¥ (T1-T2)/T1

2. % TI/AT1-T2)

3. % T2/(T1-T2)

4. % TI+T2

Question Number : 150 Question Id : 54062621052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI Terd & =0 & SRl T BT ITN F aTS FTH! 591 B Gefal gl
Options :

1. ¥ (T1-T2)/T1

2. % TI/AT1-T2)

3. % T2/(T1-T2)

4. % TI1+T2

Question Number : 151 Question Id : 54062621053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TaH &1 1ot Sl b faraT % fagga & uRafdd grar &2
Options :

1. # 10%

2. % 15%

3. % 20%

4. % 30%

Question Number : 151 Question Id : 54062621053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What % of wind's kinetic energy is converted into electricity?
Options :



1. % 10%
2. % 15%
3. % 20%
4.9 30%

Question Number : 152 Question Id : 54062621054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A turbine generator unit has an output of 150 MW and efficiency of 0.80. Calculate energy supplied per hours by steam generator.
Options :

1. ® 560 = 108]

) 679 = 10°]

3 % 700 > 109]

4 % 340 x10°J

Question Number : 152 Question Id : 54062621054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Cale S+ SBT3 | 150 MW BT 3T3TYC 3R 0.80 B G&fdl & | HTT S §RT Ufd €< MYl 1 I aretl St &1 70T By |
Options :

| % 560 x 105

b 679 x 10°]

3 % 700 x 10



4. % 340 x 10J

Question Number : 153 Question Id : 54062621055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the first OTEC plant constructed?
Options :

1. % 1930

2. % 1908

3. % 1880

4, % 1935

Question Number : 153 Question Id : 54062621055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ugdl OTEC 443 6§ F-I1 74T UT?
Options :

1. % 1930

2. % 1908

3. % 1880

4. % 1935

Question Number : 154 Question Id : 54062621056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solar thermal conversion method converts radiation to heat using

Options :

1. % Solar lamp

2. # Solar cooker

3. % Solar panels

4. ¥ Solar flat collectors



Question Number : 154 Question Id : 54062621056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR qriy =uiaRur f3fy BT IUTNT B fAfeRur BT ™1 H yRafcd sl 8|
Options :

1. % IR Y

Question Number : 155 Question Id : 54062621057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inward reaction turbine having radial discharge at outside is known as

Options :

1. % Kaplan Turbine
2. % Francis Turbine
3. % Impulse turbine

4. % Steam turbine

Question Number : 155 Question Id : 54062621057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITER o1 3R By Reara arel siada sifviforar exarza &1 & &Y H S 911 |
Options :

1. % HUAH caig

2. ¢ Wi eafsd

3. % 317 Cale

4. % YU g




Question Number : 156 Question Id : 54062621058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are not the parts of Radial flow reaction turbine?
Options :

1. # Casing

2. # Runner

3. # Draft tube

4. ¥ inlet pipe

Question Number : 156 Question Id : 54062621058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & I o B varg sifufear exars fsud wil Ruae eafs) & v gl 82
Options :

1. % ¥

2. % IR

3. ¥ QU &d

4. ¢ 3qlc U3y

Question Number : 157 Question Id : 54062621059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The device which is used to increase the intensity of the pressure of water by means of hydraulic energy available from large amount of water at
low pressure is known as

Options :

1. # Hydraulic humidifier
2. ¥ Hydraulic intensifier
3. # Orificemeter

4. % Venturimeter

Question Number : 157 Question Id : 54062621059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HH G1d R IS AR H U ¥ IUd gaferd 3ol b HIEH I UM & G1d Bi aigdl &l d¢ & ot oy Iue T &1 SN T S 8
3 & U H ST ST g

Options :

1. % SgaIed TEHRD (BT3SNcd YHTSHIR)
2. ¢ B SIfcih SCRIBRR

3. % IRfhaHiex

4. % dgdHicR

Question Number : 158 Question Id : 54062621060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which device gives the Continuous and smooth discharge?
Options :

1. ¥ Centrifugal pump

2. % Reciprocating pump

3. ¥ Hydraulic Ram

4. % Hydraulic accumulator

Question Number : 158 Question Id : 54062621060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T IUHN AR 3R I Rarg S g2
Options :

1. ¢ 3Ol Ty

2. % YN g

3. % gIZSICIH |

4. % QIS fagyaic’

Question Number : 159 Question Id : 54062621061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A manufacturing system in which a number of machines are controlled by a computer through direct connection and in real time is called as

Options :

1. * Numerical control

2. ¥ Direct Numerical control
3. % CNC

4. % Quality control

Question Number : 159 Question Id : 54062621061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ngﬁwwﬁmﬁﬁﬂﬁﬁﬁﬁﬁﬁw%mmﬁsﬁ?qmﬁm q ¥ e gR1 fafad fear srar g, 39 Ca|
Sar gl

Options :

1. % GBS g

2. ¥ UGe ATHD =

3. % CNC

4. % TOTa fAEA0T

Question Number : 160 Question Id : 54062621062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are used to move workpieces in and out of Flexible manufacturing system?
Options :

1. ¥ Gantry System

2. % Trolleys

3. # Light motor vehicles

4. % Trucks

Question Number : 160 Question Id : 54062621062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafoRaa # § feget Suan srga fmfor yomedt & Hriaxg o siaR SR aTeR o STH & fog e Sfrar g2

Options :

1. ¢ <1 Ren

2. % el

3. % Tgc Aick Bihd
4. % TH
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Question Number : 161 Question Id : 54062621063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All nodes are connected to a single communication line that carries messages in both directions is called as
Options :

1. #® Ring Topology
2. % Star Topology
3. % Bus Topology
4. ® Ethernet

Question Number : 161 Question Id : 54062621063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt gy Thd YOR A2 I IS 8Id § off gl (G Rmal H T o il &, 39 HET Il G|

Options :

1. % f& Sgrarsi
2. % WR cIgidrsi
3. ¢ 99 Ut
4. % YT

Question Number : 162 Question Id : 54062621064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of CIMOSA?

Options :

1. ¥ Computer Integrated Manufacturing Open System Architecture
2. # Computer Integrated Manufacturing Open System Application
3. # Computer Integrated Manufacturing Open System Appliance
4. % Computer Integrated Manufacturing Open System Adherence



Question Number : 162 Question Id : 54062621064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIMOSA 1 quf 7=t &1 82

Options :

1. ¥ HICR EEUCS TYhaaiT 3ud Ried sifderr
2. % HER §EUCS AGhaaiT iU Red Twiih
3. % HUECR EENICS Aoy 3 Ried Twari|

4. % HUR TS BGhaa 3o Ried 31eR=g

Question Number : 163 Question Id : 54062621065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is concerned with the problem of monitoring the progress of the product as it is being processed, assembled, moved, and
inspected in the factory.

Options :

1. # Manufacturing control
2. ¥ Shop floor control

3. # Inventory control

4. % Manufacturing planning and control

Question Number : 163 Question Id : 54062621065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IdTE B W Bt AR & gre 3 i § wifer 39 o™ § Sifid, 36T, RiFaRd oiR e fear s gl

Options :

1. % fafyaior gdem

2. ¢ XU FAR Jae

3. % Il U

4. % T AT 3R Usde




Question Number : 164 Question Id : 54062621066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the valve timing diagram for either two stroke or four stroke the inlet valve opens at what angle before the TDC?
Options :

1. # 5 degree

2. % 30 degree

3. % 25 degree

4. ¥ 10 degree

Question Number : 164 Question Id : 54062621066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& WP T IR WIS & foTU dled TSR 3RW | ZdIC aled TDC ¥ Ugd fohd 10T TR JadT 82
Options :

1. % 5 e

2. % 30 f&t

3. % 25Tt

4.+ 10 f&ht

Question Number : 165 Question Id : 54062621067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A four stroke four cylinder diesel engine develops a power of 180 Kw at 1500 rpm.The crank angle over which injection takes place is 15
degree.Calculate the time taken for injection of fuel.

Options :

1.¥ 1.66 x 1073
2. % 2.5sec

3. % 0.32 sec

4. % 0.98 sec



Question Number : 165 Question Id : 54062621067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% IR I IR RIeR SIoTd 3o 1500 rpm TR 180 Kw BT UTAR A Rd HRdl ¢ | fo sheh 101 IR SolaRM 8IdT § 98 15 St 8T §
Y9 P FoIaRM & foTT T aTel THT &1 0T BN |

Options :

1. ¥ 1.66 x 1073

2. % 25sec

3. % 0.32 sec

4. % 0.98 sec

Question Number : 166 Question Id : 54062621068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Atomization in air injection system is done using

Options :

1. ¥ Fuel cam
2. % Pump cam
3. ® Spray tip

4. ¥ Spray Valve

Question Number : 166 Question Id : 54062621068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g SR YUITel H TRHATI[HROT BT STIRT HRep (b ST B |
Options :

1. % Tgd od

2. % U &1

3. % @iey

4.« G dlcd



Question Number : 167 Question Id : 54062621069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the conditions for maximum pressure in constant volume Fuel-air cycle?
Options :

1. * 6%rich, F/A =0.072

2. % 20%rich, F/A = 0.083

3. # Chemically correct air fuel ratio

4. % 6%rich F/A =0.0745

Question Number : 167 Question Id : 54062621069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRER S SeF-arg 9% | HfIHdH g9 & fore a1 2 /2
Options :

1. % 6%rich, F/A=0.072

2. % 20%rich , F/A =0.083

3. % INAME ¥ Y Tg! a1 34 U

4. % 6%rich F/A =0.0745

Question Number : 168 Question Id : 54062621070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compressor pistons are made up of

Options :
1. ¥ Cast Iron
2. % Mild steel
3. % Lead
4. % Tron

Question Number : 168 Question Id : 54062621070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HURR foeT BB
Options :

1. ¢ adi gl

2. % goh] I (HIZS %Cnlci)

3. % i

4. % @l

Question Number : 169 Question Id : 54062621071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which evaporator Conditioned air is distributed through air distribution systems?
Options :

1. ¥ Air cooler

2. # Liquid cooler

3. # Flooded refrigerator

4. ¥ Heating coil

Question Number : 169 Question Id : 54062621071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 fadRe ugfa & A1y ¥ forg STefieruidhdl § arardierd gal [adiRd &1 Sl 82
Options :

1 ¥ TR G

2. % forfdbs peR

3. % AW Apoier

4. % gli¢T DA

Question Number : 170 Question Id : 54062621072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An air cooling evaporator has a mass air flow of 8.4Kg/s and published rating of 3.8Kw/K. What will be it's rated duty at -15 degree C coldroom
temperature with refrigerant at -21 degree c. What is the true LMTD?

Options :

1. % 28K
2.9 45K
3. % 62K
4. % 46K

Question Number : 170 Question Id : 54062621072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR FHIHT ST HT SHHM a1 UATE 8.4Kg/s 3R THIRIA e 3.8 Kw/K g1 -21 feft c RURftas s o -15 fsh c 3 v &
ATIH TR 39! (Uid St a1 g1t | 3/Telt LMTD &1 82

Options :

1. % 28K
2.¥ 45K
3. % 62K
4. % 46K

Question Number : 171 Question Id : 54062621073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which type of condenser, tubes are used?
Options :

1. # Air Condenser

2. % Water Condenser

3. # Evaporative Condenser

4. ¥ Shell and tube Condenser

Question Number : 171 Question Id : 54062621073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fhe JpR o Fuia1 T el (&) BT SUTNT fodT SiTe 82
Options :

1. % 9 U (TR He-R)

2. % S g

3. % qrdieroitg Jufa

4.+ R 3R ogg JUHA

Question Number : 172 Question Id : 54062621074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In centrifugal chiller controls, the loss of flow in evaporator or condenser is detected by
Options :

1. ¥ Flow Switch

2. # Preset valve

3. % DDC unit controller

4. % Pressure Sensor

Question Number : 172 Question Id : 54062621074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAIIR® faeR ol #, sTdieruddr a1 Yuf= # Uarg & JHaM &1 udl ANKSUIBIRE IS
Options :

1. ¢ Yarg Rag

2. % Uigc dled

3. % DDC SHTS TFD

4. % g9 Hdab

Question Number : 173 Question Id : 54062621075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of forecasting methods looks at past patterns of data and attempt to predict the future based upon the underlying patterns contained
within those data?



Options :

1. ¥ Time series models

2. # Associative models

3. % Quantitative Methods
4. % Simple Average method

Question Number : 173 Question Id : 54062621075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fora TR @1 gatgar faftrat Se1 % fied U & Sl § 8k 37 a1 # fAfed siafifed Uesi & SR W Hiasy &1 gaiga™ &= &1
TR Rl 87

Options :

1. ¢ Y §@el disd

2. % 3IRyufed Aigd

3. % AETES fafeai

4. % IR 3d fafdy

Question Number : 174 Question Id : 54062621076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Time based loading, start and finish times, due dates, dispatching rules, re-scheduling all these comes under which functions?
Options :

1. # Loading

2. % Process planning

3. ¥ Scheduling

4. % Demand forecasting

Question Number : 174 Question Id : 54062621076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S¥S AT, we 3R A ergh, 5y 3¢, fertftm T, -egfer 3 quft forg thav™ & ded 3i1d 82




Options :

1. % ST

2. % Yfchdr IS
3. ¢ [k

4. % AR gargaH

Question Number : 175 Question Id : 54062621077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Formula for Total carrying cost per year is

Options :

1. # Annual demand/Ordered quantity

2. # Procurement cost/Ordered quantity

3. % Carrying cost per unit X unit cost X average inventory per cycle

4. ® Minimum cost x ordered quantity

Question Number : 175 Question Id : 54062621077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl a8 $d a8 anTd Bl I gl

Options :

1. % It TiT/3meRId Am

2. % QU ARTC/ 3G RId 7=

3. ¢ Ufd SHTS 98- ANTd x IHhTs ANTd x Ufd b 3d ATA-IJat
4. % TAGH AT x TGIRIT AT

Question Number : 176 Question Id : 54062621078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In job shop production system:
Options :



1. ¥ Machines and methods employed keeps changing
2. # Same methods and equipment is used
3. % Machines are grouped on functional basis

4. # Same job and same methods everytime is implemented

Question Number : 176 Question Id : 54062621078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SICKIERRIIE NIV REE
Options :

1. ¢ T 7 ok i sgerd T8 d §

2. % AT fafdray 3iR IuHRUN BT IuanT faran SIraT @
3. % ORI &I HTafdd MUYR R THgIHd foal SiTdl §
4. % g HTH 3R T8 R 8% IR AL fbT o1l &

Question Number : 177 Question Id : 54062621079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What factors are to be considered before designing a product?
Options :

1. # Quantity of product

2. ® Customer background

3. % Location of the plant

4. ¥ Product value, consumer quality

Question Number : 177 Question Id : 54062621079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fohfl ITG DI {STITS B3 ¥ Ugd b HRBI R [GaR fovan ST e

Options :
1. % IdIG DI HEAT




2. % g g
3. % JUA BT R
4.« IAIG e, IUHTSKIT Ura

Question Number : 178 Question Id : 54062621080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the metals used in thermit welding.
Options :

1. # Hydrogen, Helium

2. # Acetylene, oxygen

3. # Tungsten

4. % Tron oxide, Granular aluminium

Question Number : 178 Question Id : 54062621080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yftfe afed™ & vRgad urgsft & A Sagd|
Options :

1. % gregio, feferam

2. % TRAfeeH, SRt

3. % A

4.« 3TRA SHZS, GHER TegHI—TgH

Question Number : 179 Question Id : 54062621081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The process of removing metal to the desired shape from the side or edge of the sheet is called as

Options :
1. # Trimming

2. ® Broaching



3. % Notching
4. # Lancing

Question Number : 179 Question Id : 54062621081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gite & 919 A1 TR ¥ T 1 Hefdle bR H AbTe o1 ufdhar &1 FHEI AT g |
Options :

1. % fefe

2. % Sfe

3. HIf

4. % ¥

Question Number : 180 Question Id : 54062621082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of using chills in casting process?
Options :

1. % To prepare mould

2. ¥ Fast extraction of heat

3. #% Allow provide pattern allowance

4. % Acts as catalyst

Question Number : 180 Question Id : 54062621082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ddl Ufshar H§ 35 BT IUUNT B BT I AT 82
Options :

1. % TS IR BT

2. ¢ GWHT BT doll ¥ (Ashyuy

3. % UeH Yl UG &R $I Safd 1




4. % IIRP & U H B Bl
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Question Number : 181 Question Id : 54062621083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the application of Continuous casting?
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10
540626841
0

120

No

No

0

20

No

Discipline5

5406261053
1

Online
Mandatory
20

20

20

Yes

1
5406261264
Yes



Options :

1. ¥ Production of billets
2. % Flywheels

3. % Rocker arms

4. % Gears

Question Number : 181 Question Id : 54062621083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed § 3 &1 91 FAROR saat &1 Sy 82
Options :

1. ¢ facie &1 Iadre

2. % TIfqUTTe <fsh

3. % B MY

4. % fIR

Question Number : 182 Question Id : 54062621084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the temperature range achieved in combustion zone of cupola furnace?
Options :

1. * 2000 degree C-3000 degree C

2. * 1000 degree C-1300 degree C

3. ¥ 1540 degree C-1870 degree C

4, % 2500 degree C-2600 degree C

Question Number : 182 Question Id : 54062621084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUIA B9 & e &7 T Ut aaar= a1 1 22
Options :




1. % 2000 &30 C-3000 f&3t C
2. % 1000 &3 c-1300 f&3 C
3. ¢ 1540 &0t c-1870 f&¥ii C
4. % 2500 &3 Cc-2600 f&Ut C

Question Number : 183 Question Id : 54062621085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIIR st & forg sfe wfa &l
Options :

1. % 398 m/fie

2. % 109 12 m/fe

3. % 6930 m/flC

4.+ 89 10 m/MBFC

Question Number : 183 Question Id : 54062621085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Broaching speed for copper alloys is
Options :

1. # 3 to 8 m/min

2. % 10 to 12 m/min

3. % 6to 30 m/min

4. ¥ 8 to 10 m/min

Question Number : 184 Question Id : 54062621086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an Electro discharge machine the workpiece acts as
Options :

1. % Cathode




2. #® Electrolyte
3. # Catalyst
4. ¥ Anode

Question Number : 184 Question Id : 54062621086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

goide! fEgars aiia & adh g FFTH B FAT B
Options :

1. % HUS

2. % faggd siuucy

3. % JAR

4.« Y

Question Number : 185 Question Id : 54062621087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T H T gt 87

Options :

1. ¢ YBIHR ATHR §1d g4 A SRR HH g o g
2. % 3ffafvad uard &I gerar g

3. % Y FEAT g

4. % SaTS SQIT &

Question Number : 185 Question Id : 54062621087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What a happens in a taper turning?

Options :

1. ¥ The diameter decreases gradually forming a conical shape

2. ¥ Removes excess material



3. #* Increases diameter

4. # Increases length

Question Number : 186 Question Id : 54062621088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Plasma arc cutting what is the cutting speed of stainless steel?
Options :

1. ¥ 380 mm/min

2. # 500 mm/min

3. # 100 mm/min

4. % 50 mm/min

Question Number : 186 Question Id : 54062621088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WATSHT 3MTeh it § WAaT WId Bt deTs & Tfd ford-t 82
Options :

1. ¢ 380 mm/fHe

2. % 500 mm/ffFe

3. % 100 mm/ffFe

4. % 50 mm/fBC

Question Number : 187 Question Id : 54062621089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Discontinues chips are produced because of

Options :
1. ¥ Work strain, brittle materials
2. # Welded materials

3. #* Hard materials



4. % Ductile materials

Question Number : 187 Question Id : 54062621089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§q fos &1 Iare % HRU BT g
Options :

1. ¥ q% ¥, YR gard

2. % desS Uard

3. % HAR UG

4. % TOUGHY

Question Number : 188 Question Id : 54062621090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The customer joins the queue and after waiting for certain time looses his patience and leaves the queue. This is called as
Options :

1. # Balking

2. % collusion

3. ® Jockeying
4. ¥ Reneging

Question Number : 188 Question Id : 54062621090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT HaR & W1 38l § 3R A THg & udtenn B33 & 91 30 9 @ 31 § 3R HaR 31S edl gl 9 FHET I8
Options :

1. % qifehT

2. % PRIV

3. % Sl

4. ¢ RS




Question Number : 189 Question Id : 54062621091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For one machine, n jobs the concept used is

Options :

1. # LIFO

2. # Service in random order

3. # Service by highest profit rule
4. ¥ FIFO

Question Number : 189 Question Id : 54062621091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UM & {1, n Sl IUTIT &1 S aTell S{auRun &l
Options :

1. # LIFO

2. % Yrefwssd hH H Hal

3. % IAdH A1Y 99 gRT AaT

4. ¥ FIFO

Question Number : 190 Question Id : 54062621092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Considering the bathtube curve from replacement model, what causes the failure in youth stage?
Options :

1. ¥ Operational errors, heavy load, over run

2. ® wear, tear, creep

3. % Faulty design

4. % Environmental problems

Question Number : 190 Question Id : 54062621092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR AiSe ¥ S1Yed ah &l &1 H [ §U, JaT a1 H fAwerar &1 a1 HIRUT g2
Options :

1. ¢ UREre Ffedl, YRt 4R, $fiaR A

2. % TT . e, R

3. % qIygui fgarsA

4. % UgiaRoig HETY

Question Number : 191 Question Id : 54062621093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of problems, the matrix of the problem must be square matrix?
Options :

1. % Transportation problems

2. ¥ Assignment problems

3. % Allocation problems

4. # Linear problems

Question Number : 191 Question Id : 54062621093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P UPR B U T THT BT G T 3G 81 AMeT?
Options :

1. % URdeq & gadl

2. ¥ HIOHR & T

3. % 3{TdcH o g1

4. % I @y

Question Number : 192 Question Id : 54062621094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which method can be used to solve transportation model problems?
Options :

1. ¥ North West corner method

2. # Dual simplex method

3. # Big M method

4. # Variable method

Question Number : 192 Question Id : 54062621094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URag Alsd Pt THRI3I P 8 B & o fvg AfY &1 Sua fovan o g 82
Options :

1. ¢ IR UH SR &4 @R 3¢ R TYS)

2. % YA Riudey BYs

3. % fSTm AYS

4. % gRaq-g fafer (auad Ays)

Question Number : 193 Question Id : 54062621095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While operating a CMM, what is the use of format command?
Options :

1. # Direct the probe to data collection points

2. ¥ Translate the data into the form desired for display or printout
3. # To decode the given data

4. ® Compare the distance traversed to the standard built into the machine for that axis.

Question Number : 193 Question Id : 54062621095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CMM BT JTT HId THT, BIHC HHIS BT T IUINT 82




Options :

1. % Sff9 $I ST 98 fogsil iR SR &

2. ¢ ST P! Y& 1 flicense & fau aifed &9 & srare w1

3. % fQU TN STT &I SihIs B

4. % T BI R G DI gal, 39 31& & fore gt 4 At ame 9 o3|

Question Number : 194 Question Id : 54062621096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of slit washer in Johansson Mikrokator?
Options :

1. ® Rotation of glass pointer

2. % Movement of bell crank lever

3. % To arrest the rotation of axis along the plunger

4. ® Rotation of pointer

Question Number : 194 Question Id : 54062621096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sea fihider # fiic aleR &1 I [T 52
Options :

1. % Hid Jdb Bl YU

2. % 9 sheh TliaR &1 MM

3. ¢ WIoR o 1Y 31&f & YUl & b o forg

4. ® gD DI YU

Question Number : 195 Question Id : 54062621097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The minimum permissible diameter of the shaft exceeds the maximum allowable diameter of the hole. This type of fit is called

Options :



1. ® Transition fit
2. % (Clearance fit
3. # Tolerance fit
4. ¥ Interference fit

Question Number : 195 Question Id : 54062621097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AYC BT GATH AT T B¢ & HaH WHK A I S 8| 59 UHR & e B FHET a5 |
Options :

1. % 3R flhe

2. % ffm fihe

3. % JaIdl fhe

4. ¢ g&a fthe

Question Number : 196 Question Id : 54062621098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In quality inspection, ISO 10002:2004 stands for
Options :

1. ® Quality management systems, guidelines for quality management in projects
2. # Guidelines for quality management system documentation
3. # Quality management, guidelines for training

4. ¥ Quality management, customer satisfaction, guidelines for complaints handling in organization

Question Number : 196 Question Id : 54062621098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToTaTT FARTEOT H, 1SO 10002:2004 T 372 gl
Options :

1. % TOTGIT &= omer, TRaTSHIsf H Tora ueeH o forg farmfesr




2. % T[UTGRIT Uiy YoMl eRka & fore femmfadw
3. % UG geeE, UiRiemr & for femnfdw
4. « UG USeH, TEd iy, W1+ | Rremad! ¥ fae & fo feenfrdw

Question Number : 197 Question Id : 54062621099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The measurements taken by using a sine bar are as follows:

Angle formed between upper surface of sine bar and datum : 30 degree
Distance between center of rollers : 200 mm.

Find the height difference between the rollers.

Options :

1. ¥ 100 mm
2. % 400 mm
3. % 250 mm
4. % 150 mm

Question Number : 197 Question Id : 54062621099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 IR BT IGINT B foT 7T TG 3 TR &
15 IR 3R S¢H Pl SIS Idg & sig g Tl HIoT: 30 feft
W%W%aﬁaﬁ@ 200 mm|

AT & S SHdTs BT 3R I DY

Options :

1. ¥ 100 mm

2. # 400 mm

3. % 250 mm

4. % 150 mm

Question Number : 198 Question Id : 54062621100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Semi finished goods at various stages of manufacturing cycle comes under?
Options :

1. ¥ In-Process inventories

2. # Finished inventories

3. ¥ Raw inventories

4. % Indirect inventories

Question Number : 198 Question Id : 54062621100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faf=mtor =es & faftre TR & sig, UR ATe fohdp 3iaid 3imar 82
Options :

1. ¢ S-U199 gTal-at

2. % JOR -

3. % Sod! Orad-gal

4. % YT AIA-GI

Question Number : 199 Question Id : 54062621101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o o, affes SUTANT U = 60 SHISTT UTUUT ARTA P = 15 BUT Ufd 3782, ANTd Ufd TR ¢ = 100 $UT, AT & ST &1 AR 1, Sv=e, B,
ST 31fe UR g Afgd Ufa=id = 10% | EOQ &t 0T Y|

Options :

1. % 9 gHT3Al
2. % 10 3BTl
3. % 11 3HrsAl
4. ¥ 12 313!

Question Number : 199 Question Id : 54062621101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Given that , Annual usage U = 60 Units Procurement cost P = Rs 15 per order, Cost per piece C = Rs 100,cost of carrying inventory I, a
percentage including expenditure on obsolescence, taxes, insurance etc = 10%. Calculate EOQ.

Options :

1. ® 9 units
2. % 10 units
3. % 11 units
4. ¥ 12 units

Question Number : 200 Question Id : 54062621102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to ABC analysis, What are C -items?
Options :

1. ¥ Low valued, but maximum numbered items
2. % Medium valued items

3. % High valued items, few in number

4. % Low value low numbered items

Question Number : 200 Question Id : 54062621102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABC fIzau0r & SR, C-He a1 82
Options :

1. ¢ $H GegdM, dfd SHieehdd shdifdbd 1g
2. % AYH Yegd HG

3. % I gegdH Hg, I § &Y

4. % HH Yo HY AT aIe 7G




